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Exercise | Ecosystem Structure And Function

1.Limnology is the study of

A. Fresh water ecosystem

B. Marine water ecosystem

C. Brackish water ecosystem

D. Terrestrial ecosystem

Answer: A



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6fqq7LSXXrzV
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2. The study of organisms in relation to their environment is the

definition of

A. Morphology

B. Ecology

C. Embryology

D. Biome

Answer: B

° Watch Video Solution

3.The term "ecology" was first used by

A. Reiter

B. Warming


https://dl.doubtnut.com/l/_6fqq7LSXXrzV
https://dl.doubtnut.com/l/_AlLTBvkDugab
https://dl.doubtnut.com/l/_J5w3NiAFmHdO

C. Tansley

D. Odum

Answer: A

° Watch Video Solution

4. Scientist who defined ecology as the study of interrelationships

between organisms and their environment is

A. Reiter

B. E.P.Odum

C. Haeckel

D. Warming

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_J5w3NiAFmHdO
https://dl.doubtnut.com/l/_XIeRZZhUJytE
https://dl.doubtnut.com/l/_goiNJjfbG3zV

5. Man made ecosystems are

A. Artificial ecosystem

B. Marine water ecosystem

C. Terrestrial ecosystem

D. Forests ecosystems

Answer: A

o Watch Video Solution

6. Artificial ecosystems are

A. Cropland ecosystem

B. Aquaculture ponds

C. Aquarium

D. All the above


https://dl.doubtnut.com/l/_goiNJjfbG3zV
https://dl.doubtnut.com/l/_omQZ0uLYuYks

Answer: D

° Watch Video Solution

7. A group of organisms of same species living in a specific area at a

specific time is called

A. Population

B. Community

C. Fauna

D. Flora

Answer: A

° Watch Video Solution

8. Levels of biological organisation with which ecology deals is

A) Organisms B) Biomes


https://dl.doubtnut.com/l/_omQZ0uLYuYks
https://dl.doubtnut.com/l/_XneqN3drrnLW
https://dl.doubtnut.com/l/_qQ2t9RK5M22a

C) Populations D) Communities

A.B only

B.A,C only

C.ACD only

D. AB,C,D

Answer: D

° Watch Video Solution

9. Fundamental unit of nature is

A. Organisms

B. Environment

C. Ecosystem

D. Ecology

Answer: C


https://dl.doubtnut.com/l/_qQ2t9RK5M22a
https://dl.doubtnut.com/l/_UdPjNuunxFHm

° Watch Video Solution

10. According to many ecologists the entire biosphere is regarded as

A. Local ecosystem

B. Global ecosystem

C. Universal ecosystem

D. Community ecosystem

Answer: B

o Watch Video Solution

11. The two basic categories of the biosphere are

A. Terrestirial

B. Aquatic

C.Both (1) & (2)


https://dl.doubtnut.com/l/_UdPjNuunxFHm
https://dl.doubtnut.com/l/_BTPMhb6Xfc2k
https://dl.doubtnut.com/l/_ll8FTAtTSCUQ

D. None

Answer: C

° Watch Video Solution

12. Forest, grassland and deserts are examples of

A. 1)Man-made ecosystems
B. 2)Aquatic ecoystems
C. 3)Terrestrial ecosystems

D. 4)(1) & (2)

Answer: C

o Watch Video Solution

13. An aquarium is a


https://dl.doubtnut.com/l/_ll8FTAtTSCUQ
https://dl.doubtnut.com/l/_itWICIZ3sqHR
https://dl.doubtnut.com/l/_46vj81gIyDPg

A. Terrestrial ecosystem

B. Natural aquatic ecosystem

C. Man made aquatic ecosystem

D. (1) & (2)

Answer: C

o Watch Video Solution

14. Largest of all aquatic ecosystem is

A. T)Marine water ecosystem

B. 2)Estuarine ecosystem

C. 3)Fresh water ecosystem

D. 4)Lake ecosystem

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_46vj81gIyDPg
https://dl.doubtnut.com/l/_MGYhQa21J6K2

15.In the region where river joins the sea, salinity of water depends on

A. Seasons
B. Altitude
C.Climate

D. Gravity

Answer: A

o Watch Video Solution

16. The smallest aquatic ecosystem includes

A. Oceans, Seas
B. Rivers, Lakes, Ponds

C. Estuary


https://dl.doubtnut.com/l/_MGYhQa21J6K2
https://dl.doubtnut.com/l/_F9DMEq9wuIL3
https://dl.doubtnut.com/l/_frBzVqJtDsvJ

D.1&3

Answer: B

° Watch Video Solution

Exercise | Productivity

1. The rate of production of organic matter of an ecosystem during

photosynthesis is

A. Net primary productivity

B. Gross primary productivity

C. Primary productivity

D. Secondary productivity

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_frBzVqJtDsvJ
https://dl.doubtnut.com/l/_scBoWYf1ezPz

2. Gross primary productivity minus respiration losses of an ecosystem is

A. Primary productivity

B. Net Productivity

C. Net primary productivity

D. Secondary productivity

Answer: C

o Watch Video Solution

3. The available biomass for the consumption to heterotrophs is called

A. Gross primary productivity

B. Net primary productivity

C. Primary productivity

D. Secondary productivity


https://dl.doubtnut.com/l/_wGcQZ3uSjKXR
https://dl.doubtnut.com/l/_5nPM5jxcCIH0

Answer: B

o Watch Video Solution

4. Gross primary productivity is

A. Rate at which organic molecules are formed in autotrophs

B. Rate at which organic molecules are used up by autotrophs

C. Storage of organic molecules in the body of autotrophs

D. Rate at which organic molecules are transferred to next higher

trophic level

Answer: A

o Watch Video Solution

5. _ is therate of production of organic matter by consumers.


https://dl.doubtnut.com/l/_5nPM5jxcCIH0
https://dl.doubtnut.com/l/_h2z7mXQifYHi
https://dl.doubtnut.com/l/_UluqKxcQ7E70

A. Primary productivity

B. Secondary productivity

C. Net primary productivity

D. Gross primary productivity

Answer: B

o Watch Video Solution

6. The biomass available for consumption by the herbivores and the

decomposers is called

A. net primary productivity

B. secondary productivity

C.standing crop

D. gross primary productivity

Answer: A



https://dl.doubtnut.com/l/_UluqKxcQ7E70
https://dl.doubtnut.com/l/_n1I8FpJljD94

| ° Watch Video Solution

7. Productivity is the rate of production of biomass expressed in terms of
i) (kca,lmg)yr_1 i) g_2yr_1
iii) g_lyr_1 iv) (kcal m_2)y7°_1

A. i

B. iii

C.iiand iv

D.iand iii

Answer: C

° Watch Video Solution

8. The energy storage at producer level which can be consumed by

herbivores


https://dl.doubtnut.com/l/_n1I8FpJljD94
https://dl.doubtnut.com/l/_9qbBiKnDGV4t
https://dl.doubtnut.com/l/_AtCxCRmbVGy6

A. Net productivity

B. Net primary productivity

C. Secondary productivity

D. Gross primary productivity

Answer: B

o Watch Video Solution

9. A certain mass of living material at a particular time in each trophic

level is called

A. Standing state

B. Stratification

C. Standing crop

D. Species composition

Answer: C



https://dl.doubtnut.com/l/_AtCxCRmbVGy6
https://dl.doubtnut.com/l/_iNcDwZHgAtN2

| ° Watch Video Solution

10. The NPP in a plant is 100kj. What is the body mass of the secondary

carnivore?

A.100 K]

B. 10K]

C.1KJ

D. 0.1K]

Answer: D

° Watch Video Solution

1. Which of the following is expected to have the highest value

(gm /m? /yr) in a grassland ecosystem?

A. Secondary production


https://dl.doubtnut.com/l/_iNcDwZHgAtN2
https://dl.doubtnut.com/l/_hWOnfAYRvbAL
https://dl.doubtnut.com/l/_YiHYEGR5sEgI

B. Tertiary production

C. Gross production (GP)

D. Net production (NP)

Answer: C

o Watch Video Solution

12. Which of the following statements about decomposition is incorrect?

A. Decomposers break down complex organic matter into inorganic

substances

B. Water insoluble organic nutrients go down into the soil horizon

during the process of leaching

C.In fragmentation, detrivores break down detritus into smaller

particles


https://dl.doubtnut.com/l/_YiHYEGR5sEgI
https://dl.doubtnut.com/l/_TDMyCKljohZH

D. Saprophytic bacteria and fungi secrete digestive enzymes over the

fragmented detritus

Answer: B

° Watch Video Solution

13. Most important climatic factors

decomposition are

A. Temperature and soil moisture

B. Soil pH and aeration

C. Aeration and temperature

D. Moisture and soil pH

Answer: A

that

regulate the

rate of

° Watch Video Solution



https://dl.doubtnut.com/l/_TDMyCKljohZH
https://dl.doubtnut.com/l/_Lr9LJbYz6ESS
https://dl.doubtnut.com/l/_bJ6cTgJm53Cd

14. The raw material for decomposition, the detritus includes

A. Dead plant remains

B. Dead remains of animals

C. Faecal matter

D. All the above

Answer: D

o Watch Video Solution

15. Various steps in decomposition are

A. Fragmentation

B. Leaching and catabolism

C. Humification and mineralization

D. All the above


https://dl.doubtnut.com/l/_bJ6cTgJm53Cd
https://dl.doubtnut.com/l/_0Jd4rxXhORN3

Answer: D

° Watch Video Solution

16. Breakdown of detritus into smaller particles by earthworm is a process

called

A. Fragmentation

B. Leaching

C. Catabolism

D. Humification

Answer: A

° Watch Video Solution

17. The process by which water soluble inorganis nutrients go down into

the soil horizon and get precipitated as unavailable salts is called :


https://dl.doubtnut.com/l/_0Jd4rxXhORN3
https://dl.doubtnut.com/l/_SyzZXut6k8kt
https://dl.doubtnut.com/l/_pCjDyRf5Kixd

A. Fragmentation

B. Leaching

C. Catabolism

D. Humification

Answer: B

o Watch Video Solution

18. Degradation of detritus into simple inorganic substances by the

enzymatic action of bacteria and fungi is called

A. Fragmentation

B. Leaching

C. Catabolism

D. Humfication

Answer: C



https://dl.doubtnut.com/l/_pCjDyRf5Kixd
https://dl.doubtnut.com/l/_nhN85p7xOVGU

| ° Watch Video Solution

19. Decomposition is largely

A. A non oxygenic process
B. An oxygen requiring process
C. Arapid process

D. Both (1) and (3)

Answer: B

° Watch Video Solution

20. The rate of decompostion is controlled by

A. Chemical composition of detritus
B. Climatic factors

C.Both (1) and (2)


https://dl.doubtnut.com/l/_nhN85p7xOVGU
https://dl.doubtnut.com/l/_9UVWovC2r9YQ
https://dl.doubtnut.com/l/_aJd0P6Lb2K00

D. None

Answer: C

° Watch Video Solution

21. Decomposition is largely

A. Lignin and nitrogen

B. Chitin and sugars

C. Nitrogen and sugars

D. Lignin and chitin

Answer: D

o Watch Video Solution

Exercise | Decomposition


https://dl.doubtnut.com/l/_aJd0P6Lb2K00
https://dl.doubtnut.com/l/_Moy6jv5plgIv
https://dl.doubtnut.com/l/_Fg0RQMub7YgT

1. The organisms that thrive upon the remains of dead plants and animals

are categorised as

A. Carnivores

B. Omnivores

C. Scavengers

D. Predators

Answer: C

o Watch Video Solution

Exercise | Energy Flow

1. What perentage of incident solar radiatoin is captured in

photosynthesis by plants ?

A.0.8-4%


https://dl.doubtnut.com/l/_Fg0RQMub7YgT
https://dl.doubtnut.com/l/_6lvdTACRYPZZ

B.0.2-1%

C.1-5%

D.0.5

Answer: C

° Watch Video Solution

2. The amount of energy available at successive trophiclevels

A. Decreases

B. Increases

C.Remain same

D. Always 10%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6lvdTACRYPZZ
https://dl.doubtnut.com/l/_Kj5j4fhbfHjO
https://dl.doubtnut.com/l/_K1bY3JXNBXNi

3. Of the incident solar radiation, percent of the photosynthetically active

radiation (PAR) is

A.750

B. <50

C.100

D.O

Answer: B

o Watch Video Solution

4. Percentage of photosyntetically active radiation (PAR) that is captured

by plants in synthesis of organic matter is

A. More than 50

B. 100

C.Only2-10


https://dl.doubtnut.com/l/_K1bY3JXNBXNi
https://dl.doubtnut.com/l/_qKIckHV8rL6L

D. Zero

Answer: C

° Watch Video Solution

5. Flow of energy declines from lower to higher trophic level in ecosystem

is mainly explained by :

A. First law of thermodynamics

B. Second law of thermodynamics

C. Both of these

D. None of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qKIckHV8rL6L
https://dl.doubtnut.com/l/_zpW6qe5mo9nH

6. As per the second law of thermodynamics the energy degraded is in

the form of unavailiable heat energy and constitute

A. Entropy

B. Standing crop

C. Biomass

D. Pyramid

Answer: A

o Watch Video Solution

7. The average energy transfer from one animal to another animal is

(According to Lindeman's rule)

A.01

B.0.2

C.20% - 30%


https://dl.doubtnut.com/l/_wdexVHKWN1tJ
https://dl.doubtnut.com/l/_SYHpGQNsNOaQ

D. 0.99

Answer: A

° Watch Video Solution

8. If 0.16 kJ is the NSP in tertiary carnivores what is the NPP in that

ecosystem (Note: 0.01% of NPP is transfered to the tertiary carnivores

A.80]

B. 400 )

C. 1600 K]

D. 8000 K]

Answer: C

° Watch Video Solution

Exercise | Trophic Levels And Food Chains



https://dl.doubtnut.com/l/_SYHpGQNsNOaQ
https://dl.doubtnut.com/l/_YDRazTjHy4V7

1. An ecosystem contains

A. Green plants and animals

B. Green plants and decomposers

C. Green plants, animals, decomposers and abiotic environment

D. Producers and consumers

Answer: C

o Watch Video Solution

2.The following is a logical sequence

A. Consumer-Producer-Decomposer

B. Producer-Decomposer-Consumer

C. Producer-Consumer-Decomposer

D. Decomposer-Consumer-Producer


https://dl.doubtnut.com/l/_q7uI26P9Hd03
https://dl.doubtnut.com/l/_AOZAmjTRc4cH

Answer: C

° Watch Video Solution

3. Biological equilibrium is an equilibrium among the

A. Decomposers and producers only

B. Producers and consumers only

C. Producers, consumers and decomposers

D. Producers only

Answer: C

° Watch Video Solution

4. When peacok eats snakes, which eat insects thriving on green plants,

the peacock is


https://dl.doubtnut.com/l/_AOZAmjTRc4cH
https://dl.doubtnut.com/l/_np9ZjeKAGLIw
https://dl.doubtnut.com/l/_hryB2ljjGP6H

A. A primary decomposer

B. A primary consumer

C. The apex of food pyramid

D. Final decomposer

Answer: C

o Watch Video Solution

5. Which one of the following animals may occupy more than one trophic

levels in the same ecosystem at the same time?

A. Sparrow

B. Lion

C. Goat

D. Frog

Answer: A



https://dl.doubtnut.com/l/_hryB2ljjGP6H
https://dl.doubtnut.com/l/_Wmg8cvL1EWVK

| ° Watch Video Solution

6. Which one of the following types of organisms occupy more than one

trophic level in a pond ecosystem?

A. Fish

B. Zooplankton

C. Phytoplankton

D. Frogs

Answer: A

° Watch Video Solution

7.The stability of ecosystem is maintained by

A. Grazing food chains

B. Parasitic food chains


https://dl.doubtnut.com/l/_Wmg8cvL1EWVK
https://dl.doubtnut.com/l/_LjvEWsX8b9em
https://dl.doubtnut.com/l/_gYMWMGogn5Ql

C. Detritus food chains

D. Food web

Answer: D

o Watch Video Solution

8. The food chain ends with

A. Parasites

B. Predators

C. Herbivores

D. Climax carnivores

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gYMWMGogn5Ql
https://dl.doubtnut.com/l/_tpFVvAU08N2t

9. Food webs in the ecosystem are formed due to

A. Independency

B. Interdependency

C. Both (1) and (2)

D. None

Answer: B

o Watch Video Solution

10. The correct path of energy flow in an ecosystem is

A. Herbivores — Carnivores — Producers — Decomposers

B. Herbivores — Producers — Carnivores — Decomposers

C. Producers — Herbivores Decomposers — Decomposers

D. Producers Herbivores — Carnivores — Decomposers


https://dl.doubtnut.com/l/_xtHvd1uWU92S
https://dl.doubtnut.com/l/_sFyv52heD3rU

Answer: D

° Watch Video Solution

11. A food chain starts with......

A. Nitrogen fixation organisms

B. Photosynthesising organisms

C. Consumers

D. Decomposers

Answer: B

° Watch Video Solution

12.In a food chain herbivores are

A. Primary consumers


https://dl.doubtnut.com/l/_sFyv52heD3rU
https://dl.doubtnut.com/l/_86iLad3uwCqK
https://dl.doubtnut.com/l/_2n9jdtxMaToG

B. Decomposers

C. Primary producers

D. Secondary consumers

Answer: A

° Watch Video Solution

13. The sequence for species through which the organic molecules in

community pass is called a

A. Food web

B. Food chain

C. Nutrient cycle

D. Pyramid of energy

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2n9jdtxMaToG
https://dl.doubtnut.com/l/_OxgmPal4cWdz

14. A group of interconnected food chains is called

A. Pyramid of energy

B. Food web

C. Food cycle

D. Complex food chain

Answer: B

o Watch Video Solution

15. Which of the following statement about GFC is incorrect ?

A.Sun is the source of energy

B. Begins with consumers

C. Major conduit for energy flow in aquatic ecosystems

D. Size of organisms commonly increase at higher trophic levels.


https://dl.doubtnut.com/l/_OxgmPal4cWdz
https://dl.doubtnut.com/l/_76xbXtjdp947
https://dl.doubtnut.com/l/_lzVBLjNs0Qgo

Answer: B

° Watch Video Solution

16. In a food chain, the largest population is that of

A. Primary consumers

B. Secondary consumers

C. Decomposers

D. Producers

Answer: D

° Watch Video Solution

17.In detritus food chain, primary consumers are

A. Insects, Larvae, Nematodes


https://dl.doubtnut.com/l/_lzVBLjNs0Qgo
https://dl.doubtnut.com/l/_eDTd3xZNE3wA
https://dl.doubtnut.com/l/_fjMXTwRt083P

B. Herbivores

C. Bacteria and fungi

D. All of these

Answer: C

° Watch Video Solution

18. A detritus food chain in comparison to grazing food chain is

A. Equal

B. Broader

C.Longer

D. Shorter

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fjMXTwRt083P
https://dl.doubtnut.com/l/_vmbleAZrqfue
https://dl.doubtnut.com/l/_otPePrhoX7sr

19. The transfer of energy from organism to organism in a natural

community establishes

A. Natural barriers

B. Biological control

C. Food chains

D. All the above

Answer: C

o Watch Video Solution

20. We refer to the following as the food chain

A.Large number of human beings forming a human chain near a

source of food

B. Large number of animals near a source of food


https://dl.doubtnut.com/l/_otPePrhoX7sr
https://dl.doubtnut.com/l/_6CYxhGnV0KXJ

C.Transfer of food energy from the green plants through a series
consumed by organisms

D. None of these

Answer: C

° Watch Video Solution

21. In a food chain phytoplankton — zooplank — nsmall fishtosquid
to’ seal. what is seal?

A. Tertiary consumer

B. Secondary carnivore

C. Tertiary carnivore

D. Climax herbivore

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6CYxhGnV0KXJ
https://dl.doubtnut.com/l/_hrFxOSbtpLSb

Exercise | Ecological Pyramids

1. A ecological pyramid, devised by C. Elton 1927 is a graphic diagram that
shows relationship between

A. Transfer of food through food chains

B. Organisms

C. Various trophic levels of a food chain

D. Populations and communities within an ecosystem

Answer: C

o Watch Video Solution

2. Pyramid of number in a cropland ecosystem is

A. Upright


https://dl.doubtnut.com/l/_hrFxOSbtpLSb
https://dl.doubtnut.com/l/_sUFI2v3nFI6X
https://dl.doubtnut.com/l/_zUzX82w0noqQ

B. Inverted

C.Rhomboidal

D. Spindle shap

Answer: A

° Watch Video Solution

3. Ecological pyramids does not accomodate

A. Food Chain

B. Trophic levels

C. Food web

D. None

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zUzX82w0noqQ
https://dl.doubtnut.com/l/_RPGwTgtnt1tX
https://dl.doubtnut.com/l/_1ljBfkiAHuyr

4. For tree and grassland ecosystems, pyramid of biomass is

A. Upright

B. Inverted

C. Spindle - shaped

D. Urn-shaped

Answer: A

o Watch Video Solution

5. Pyramid of numbers is

A. Always upright

B. Always inverted

C. Either upright or inverted

D. Neither upright nor inverted.


https://dl.doubtnut.com/l/_1ljBfkiAHuyr
https://dl.doubtnut.com/l/_o9HxZa0CtFB5

Answer: B

° Watch Video Solution

6. An inverted pyramid of biomass can be found In thch ecosystem?

A. Tundra
B. Desert
C.Sea

D. Rain forest

Answer: C

° Watch Video Solution

7.Who accepts the nutrient released in environment by decomposer ?

A. Producers


https://dl.doubtnut.com/l/_o9HxZa0CtFB5
https://dl.doubtnut.com/l/_p5bJ4tOMF49z
https://dl.doubtnut.com/l/_70TZMMhD4ewI

B. Consumers

C. Secondary Consumers

D. None of the given

Answer: A

° Watch Video Solution

8. Which of the folllowing ecological pyramids can be both upright and

inverted?

A. Pyramid of Number

B. Pyramid of biomass

C. Pyramid of energy

D. Both (1) & (2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_70TZMMhD4ewI
https://dl.doubtnut.com/l/_ojtEdgKqtJRS

9. If producer is a large tree that supports a number of herbivorous
animals which are further attacked by ectoparasites, the pyramid of
number shall be

A. Inverted

B. Upright

C.lIrregular

D. Spindle shaped

Answer: A

o Watch Video Solution

10. The organisms which are not represented in ecological pyramids are

A. Producers

B. Saprophytes


https://dl.doubtnut.com/l/_ojtEdgKqtJRS
https://dl.doubtnut.com/l/_tpZ7zW74TDD2
https://dl.doubtnut.com/l/_DKd2l7LiuIw9

C. Herbivores

D. Carnivores

Answer: B

° Watch Video Solution

1. In pyramid of numbers, from the lower trophic level to higher trophic

level there is progressive

A. Decrease in number and size of organisms

B. Increase in number and size of organisms

C. Decrease in number and increase in size of organisms

D. Increase in number and decrease in size of organisms

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DKd2l7LiuIw9
https://dl.doubtnut.com/l/_sSZSfhCRudUW
https://dl.doubtnut.com/l/_p5zhAJJDtGja

12. The relationship between organisms of different trophic levels is

ideally represented by pyramid of

A. numbers

B. biomass

C. energy

D. age groups

Answer: C

o Watch Video Solution

13. Identify the correct one from the following as we move up from lower

trophic level to the higher level in ecological pyramids

A. Number increases in predatory food chain

B. Number increases in parasitic food chain

C. Energy increases in predatory food chain


https://dl.doubtnut.com/l/_p5zhAJJDtGja
https://dl.doubtnut.com/l/_qXAEkeSHfS6r

D. Biomass decreases is aquatic food chain

Answer: B

° Watch Video Solution

14. In an energy pyramid, the energy available at the primary carnivore

level is greater than that of

A. Secondary consumers

B. Secondary carnivores

C. Herbivores

D. Primary consumers

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qXAEkeSHfS6r
https://dl.doubtnut.com/l/_9Na12DwIfrG9

15. The upright pyramid of number is absent in :

A. Lake

B. Grassland

C. Pond

D. Forest

Answer: D

o Watch Video Solution

Exercise | Plant Succession

1. An orderly sequence of community development on an area is called

A. Succession

B. Cover

C. Establishment


https://dl.doubtnut.com/l/_VRpWxV3iTgoy
https://dl.doubtnut.com/l/_mY4KGwxXdSiO

D. Diversity

Answer: A

° Watch Video Solution

2. Succession stages that occur in salt marshes is called

A. Psammosere

B. Halosere

C. Lithosere

D. Hydrosere

Answer: B

o Watch Video Solution

3. Plant succession occurring in a sandy area is


https://dl.doubtnut.com/l/_mY4KGwxXdSiO
https://dl.doubtnut.com/l/_jrp1t5VUwIyw
https://dl.doubtnut.com/l/_IAVIKN07EDkW

A. halosere

B. xerosere

C. lithosere

D. psammosere

Answer: D

o Watch Video Solution

4. Serial changes in the previously sterile or total barren area are called

A. Climatic climax

B. Secondary succession

C. Primary succession

D. Sere

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IAVIKN07EDkW
https://dl.doubtnut.com/l/_0zLy30HRRuc9

5.Sucession starts on the large and bare rock is called

A. Secondary succession

B. Primary succession

C. Climax community

D. Ecological pyramid

Answer: B

° Watch Video Solution

6. The Primary succession is formation of communities on a

A. Newly exposed habitat with no record of earlier vegetation

B. Pond freshly filled with water after a dry phase

C. Forest clearing after devastating fire


https://dl.doubtnut.com/l/_0zLy30HRRuc9
https://dl.doubtnut.com/l/_rFKjS1HTZkqO
https://dl.doubtnut.com/l/_fAApkZQiL8mC

D. Freshly cleared crop field

Answer: A

° Watch Video Solution

7.Succession is :

A. Orderly process of community change till stability

B. Gradual, convergent directional and continuous process

C. Series of biotic communities that appear gradually in a barren area

D. All of the above

Answer: D

o Watch Video Solution

8. Which is not a characteristic of seral stages?


https://dl.doubtnut.com/l/_fAApkZQiL8mC
https://dl.doubtnut.com/l/_MuydQ6p6Hn2N
https://dl.doubtnut.com/l/_AerEBzZI3qjN

A. Simplified food chain

B. Few and generalized niches

C. Low net community productivity (NCP)

D. Low energy use efficiency

Answer: C

o Watch Video Solution

9. What changes occur during ecological succession?

A. Diversity and stability increase

B. Non-living organic matter and food chains increase

C. Biomass and energy flow increase

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AerEBzZI3qjN
https://dl.doubtnut.com/l/_2MymqS81hkZf

10. The terminal stage of a successional process is called

A. Final stage

B. Climax stage

C. Seral stage

D. Pioneer stage

Answer: B

o Watch Video Solution

1. If the pioneer stage is dominated by autotrophs, then the succession

is called.

A. Allogenic

B. Autogenic

C. Autotrophic


https://dl.doubtnut.com/l/_2MymqS81hkZf
https://dl.doubtnut.com/l/_sCZBic6Gi1q6
https://dl.doubtnut.com/l/_yyfvKTi1188q

D. Heterotrophic

Answer: C

° Watch Video Solution

12. A community that is in near equillibrium with the environment during

ecological sucession is

A. Trophic level

B. Food chain

C. Climax community

D. Food web

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yyfvKTi1188q
https://dl.doubtnut.com/l/_GrJ9TYuXORlG

13. If the vegetation of a place is burnt the first one to appear will be

A. Mosses
B. Lichens
C. Liver worts

D. Grasses

Answer: B

o Watch Video Solution

14. During succession, in the successive seral stages, there is a/an :

A. Diversity of species of organisms
B. Number of species of organisms
C. Increase of total boimass

D. All the above


https://dl.doubtnut.com/l/_oPMRs8SELrdx
https://dl.doubtnut.com/l/_jWkGysf2rnGP

Answer: D

° Watch Video Solution

15. In succession, complexities in structure

A. Drastically increase

B. slowly increase

C. Does not increase

D. Remain constant

Answer: B

° Watch Video Solution

16. A community that starts the process of succession in a habitat is

called



https://dl.doubtnut.com/l/_jWkGysf2rnGP
https://dl.doubtnut.com/l/_fBA9jdhNQu1r
https://dl.doubtnut.com/l/_PZdWr5dl4LZU

A. Pioneer community

B. Abiotic community

C. Biotic community

D. None of these

Answer: A

o Watch Video Solution

17. The nature of climax community ultimately depends on

A. Climate

B. Soil organism

C. Bed rock

D. Pool of available nutrients

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PZdWr5dl4LZU
https://dl.doubtnut.com/l/_ekeasy53idTQ

18. primary succession refers to the development of communities on a :

A. Pond freshly filled with water after a dry place

B. Freshly created crop field

C. Newly exposed habitat with no record of earlier vegetation

D. Forest clearing after devastating fire

Answer: C

° Watch Video Solution

19. Find out the correct order of succession levels in Xerarch:

A. Lichen moss stage, annual herb stage, perennial herb stage, shrub

stage, forest


https://dl.doubtnut.com/l/_ekeasy53idTQ
https://dl.doubtnut.com/l/_CuRNvvH7R7R3
https://dl.doubtnut.com/l/_XO90BAFI1BYi

B. Annual herb stage, perennial herb stage, lichen moss stage, shrub

stage, forest

C.Serennial herb stage, annual herb stage, lichen moss stage, shrub

stage, forest

D. Shrub stage, forest, annual herb stage, perennial stage, lichen moss

stage

Answer: A

° Watch Video Solution

20. During the process of ecological succession

A. Species diversity decreases

B. Structural complexity decreases

C. Niche become specialised

D. Food chain relationship becomes simple


https://dl.doubtnut.com/l/_XO90BAFI1BYi
https://dl.doubtnut.com/l/_tfsKhiJ1cbRo

Answer: C

° Watch Video Solution

21. Lichens and mosses are observed in

A. Hydrosere

B. Xerosere

C. Hydrarch succession

D. Psammosere

Answer: B

° Watch Video Solution

22. Intermediate communities between poineer and climax communities

are commonly called as



https://dl.doubtnut.com/l/_tfsKhiJ1cbRo
https://dl.doubtnut.com/l/_1FsB7zp2fckJ
https://dl.doubtnut.com/l/_7wMjXB00PCEG

A. Plant communities

B. Biotic communities

C. Transitory communities

D. None

Answer: C

o Watch Video Solution

23. When the vegetation of a region reaches climatic climax, it usually

becomes

A. Hydrophytic

B. Mesophytic

C. Xerophytic

D. Lithophytic

Answer: B



https://dl.doubtnut.com/l/_7wMjXB00PCEG
https://dl.doubtnut.com/l/_wJxXBDS9Sq4f

| ° Watch Video Solution

24. Minimum diversity is found in

A. Moss stage

B. Climax community

C. Pioneer community

D. Seral community

Answer: C

° Watch Video Solution

25. When the succession occurs in a barren area that was not previously
inhabited by plant, like sand dunes, seafloor, volcano lava sediments, it is

called

A. Primary succession


https://dl.doubtnut.com/l/_wJxXBDS9Sq4f
https://dl.doubtnut.com/l/_XQ1PLFqDpbQI
https://dl.doubtnut.com/l/_HTlwAWBba4Za

B. Secondary succession

C. Allogenic

D. Ecological succession

Answer: A

° Watch Video Solution

26. In ecological succession from pioneer to climax stage, the biomass

shall

A. Increase continuously

B. Decrease

C. Increase and then decrease

D. No relation

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HTlwAWBba4Za
https://dl.doubtnut.com/l/_divwiYSwvJZp

Exercise | Nutrient Cycling

1. Release of inorganic nutrients from humus by microbes is

A. Humification
B. Catabolism
C. Mineralization

D. Fragmentation

Answer: C

o Watch Video Solution

2. Which of the following nutrient cycles have nothing do with

atmosphere

A. Carbon cycle


https://dl.doubtnut.com/l/_divwiYSwvJZp
https://dl.doubtnut.com/l/_vhXd7O6WeLiG
https://dl.doubtnut.com/l/_TSO78DjGN2A4

B. Nitrogen cycle

C. Phosphorous cycle

D. Oxygen cycle

Answer: C

° Watch Video Solution

3. The first step that must occur before plants can make use of nitrogen

present in dead organic material is

A. Ammonification

B. Nutrification

C. Denitrification

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TSO78DjGN2A4
https://dl.doubtnut.com/l/_XlixMs6UVUu2

4, Pseudomonas convert

A. NHj; to nitrates

B. Nitrates to nitrates

C. Nitrites to NHj

D. Nitrates to atmospheric nitrogen

Answer: D

o Watch Video Solution

5. Which of the following bacteria convert nitrites to nitrates

A. Pseudomonas

B. Nitrobacter

C. Nitrococcus

D. Thiobacillus


https://dl.doubtnut.com/l/_XlixMs6UVUu2
https://dl.doubtnut.com/l/_Vj4aMyRawcZ0
https://dl.doubtnut.com/l/_FvDVOEwIizHR

Answer: B

° Watch Video Solution

6. Study the following in nitrogen cycle and identify A and B

(4) = B
NH; —— NO; — NO;

A. A-Nitrosomonas, B-Nitrobactor
B. A-Nitrobactor, B-Nitrobactor
C. A-Nitrobactor, B-Nitrosomonas

D. A-Thiobacillus, B-Nitrobacter

Answer: A

o Watch Video Solution

7.Humus decomposition retards with


https://dl.doubtnut.com/l/_FvDVOEwIizHR
https://dl.doubtnut.com/l/_JZWzGqcfcL8n
https://dl.doubtnut.com/l/_jt6M35OnoJ7U

A. High oxygen

B. High lignin

C. High temperature

D. High nitrogen

Answer: B

o Watch Video Solution

8.Read the following statements about 'Humus', Choose the best option
(i) Humus is colloidal in nature

(i) Easily and Quickly decomposed by microbial action

(iii) Reservoir of nutrients

(iv) Dark coloured

A A

B.B

C.C


https://dl.doubtnut.com/l/_jt6M35OnoJ7U
https://dl.doubtnut.com/l/_ByeTXF6qg7EM

D.D

Answer: B

° Watch Video Solution

9. Human activities have significantly influenced

A. Carbon cycle

B. Nitrogen cycle

C. Water cycle

D. Phosphorus cycle

Answer: A

o Watch Video Solution

10. Which of the following is not a fossil fuel


https://dl.doubtnut.com/l/_ByeTXF6qg7EM
https://dl.doubtnut.com/l/_BTSBTyrpaXLV
https://dl.doubtnut.com/l/_Dk8m66h3YBRD

A. Coal

B. Wood charcoal

C. Coal tar

D. Cooking gas

Answer: B

o Watch Video Solution

1. Apart from carbon, hydrogen and oxygen the most prevalent element

in living organisms

A. Phosphorus

B. Nitrogen

C. Calcium

D.Iron

Answer: B



https://dl.doubtnut.com/l/_Dk8m66h3YBRD
https://dl.doubtnut.com/l/_PqFdDWQAk2Hl

| ° Watch Video Solution

12. What is incorrect for oxygen ?

A. It is essential for all the organisms
B. Plants are included in the organisms producing it
C. Most of the metabolic energy is produced by it

D. Its proportion in water is 90%

Answer: A

° Watch Video Solution

13. Pick the odd one out

A. Pseudomonas

B. Nitrosomonas

C. Nitrobacter


https://dl.doubtnut.com/l/_PqFdDWQAk2Hl
https://dl.doubtnut.com/l/_YZOPxBJddTwc
https://dl.doubtnut.com/l/_dBdFA8wCy0eV

D. Nitrosococcus

Answer: A

° Watch Video Solution

14. Major mineral constituent of cell membrane is

A. Calcium

B. Phosphorus

C. Sulphur

D. Nitrogen

Answer: B

o Watch Video Solution

15. Circulation of elements in ecology is called


https://dl.doubtnut.com/l/_dBdFA8wCy0eV
https://dl.doubtnut.com/l/_GTBEA1h33MJN
https://dl.doubtnut.com/l/_lrZtuMGBc4Xx

A. Biological chemical cycle

B. Geological cycle

C. Geochemical cycle

D. Biogeochemical cycle

Answer: D

o Watch Video Solution

16. The reservoir for the gaseous type of bio-geochemical cycle exists in

A. Lithosphere

B. Hydrosphere

C. Atmosphere

D. Stratosphere

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lrZtuMGBc4Xx
https://dl.doubtnut.com/l/_Cl8V7ePdMMHW

17.In mineral cycle reservoir is

A. Atmosphere

B. Hydrosphere

C. Lithosphere

D. Bottom of the sea

Answer: C

o Watch Video Solution

18. Out of nutrient cycles sulphur - (a) , phosphorus - (b) , carbon - (c) , and

nitrogen (d) , the sedimentary cycle is/are :

A. sulphur and nitrogen

B. carbon and nitrogen

C. sulphur and carbon


https://dl.doubtnut.com/l/_Cl8V7ePdMMHW
https://dl.doubtnut.com/l/_VlI5AFlpONf3
https://dl.doubtnut.com/l/_KxJUR8r2IUJL

D. none of these

Answer: D

° Watch Video Solution

19. In phosphorus cycle phosphorus is mainly added to the cycle by

A. volcanic gases
B. decomposers
C. Weathering

D. Rain water

Answer: C

o Watch Video Solution

20. Select the correct statement.


https://dl.doubtnut.com/l/_KxJUR8r2IUJL
https://dl.doubtnut.com/l/_Zzmcifx7JLIi
https://dl.doubtnut.com/l/_4sbcdd5YxiF3

A.Nitrogen is a limiting nutrient for both natural and agricultural

ecosystem

B. Nitrogen is a major component of shells

C. Nitrogen form mainly sedimentary cycle

D. Nitrogen is fixed by Pseudomonas

Answer: A

o Watch Video Solution

21. Select the incorrect statement from the following

A. Nitrogen is a constituent of amino acids and nucleic acids

B. Nitrogen is a limiting nutrient in the soil

C. Nitrogen is an inert element

D. Nitrogen is a major constituent of shells and corals

Answer: C


https://dl.doubtnut.com/l/_4sbcdd5YxiF3
https://dl.doubtnut.com/l/_v2u6vvRdZ1MB

° Watch Video Solution

22. Conversion of atmospheric free nitrogen to nitrates is called

A. Nitration

B. Nitrogen fixation

C. Nitrification

D. Denitrification

Answer: B

o Watch Video Solution

23. The amount of nutrients such as carbon, nitrogen, phosphorus,

calcium, etc is present in the soil is called

A. Standing state

B. Standing crop


https://dl.doubtnut.com/l/_v2u6vvRdZ1MB
https://dl.doubtnut.com/l/_r28i3jH86w83
https://dl.doubtnut.com/l/_Un0007uxSeYC

C. Soil reservoir

D. Soil richness

Answer: A

o Watch Video Solution

24. Edaphic factors are related to

A. Soil

B. Water

C. Temperature

D. Salinity

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Un0007uxSeYC
https://dl.doubtnut.com/l/_qt9BPLECA3ZT

25.The logical sequence of nitrogen fixation in air is

A. Ny — NH3 — N02 — N03

B.NH; — NO — NOy; — NO3

C.NO — N02 — NO3 — NH3

D. NyO — NO — NOy — NOs

Answer: A

o Watch Video Solution

26. The biogeochemical cycle that is directly driven by sunlight is

A. Nitrogen
B. Carbon
C. Phosphorus

D. All of these


https://dl.doubtnut.com/l/_lM4PimT8woki
https://dl.doubtnut.com/l/_fbwp9PJxu9eb

Answer: B

° Watch Video Solution

27.The biogeochemical cycle that is directly driven by lightening is

A. Water

B. Nitrogen

C. Carbon

D. Phosphorus

Answer: B

° Watch Video Solution

Exercise | Ecosystem Services

1. One of the following is not a supporting ecosystem services


https://dl.doubtnut.com/l/_fbwp9PJxu9eb
https://dl.doubtnut.com/l/_AsoJjCL88Jrb
https://dl.doubtnut.com/l/_r8OejE0gD8LE

A. Nutrient cycling

B. Oxygen production

C. Soil formation

D. Climate regulation

Answer: D

o Watch Video Solution

2. Ecosystem services such as education, recreation and aesthetic value

comes under this category

A. Regulating services

B. Supporting services

C. Cultural services

D. Provisioning services

Answer: C



https://dl.doubtnut.com/l/_r8OejE0gD8LE
https://dl.doubtnut.com/l/_s5p6oiFtjOKa

| ° Watch Video Solution

3. Robert Constant and his colleagues have put a price tag of .US .33

trillion a year on

A.33

B. 50

C.6

D. 18

Answer: A

° Watch Video Solution

4. |dentify the correct statement.

A. cost of soil formation account for about 10 percent.

B. food, fibre are regulating services


https://dl.doubtnut.com/l/_s5p6oiFtjOKa
https://dl.doubtnut.com/l/_BOPksA0XmUuv
https://dl.doubtnut.com/l/_zMyEQA7hTegt

C. Recreation and nutrient cycling accounts for less than 10 percent

D. water purification and food production are supporting services.

Answer: C

° Watch Video Solution

5. The most important pollinator for agricultural purposes is

A. Flies

B. Mosquitoes

C. Cockroaches

D. Honey bees

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zMyEQA7hTegt
https://dl.doubtnut.com/l/_4wfzQ5sod6fs

6. Amount of CO, abosorbed by plant to produce 180 gm of glucose

A. 216 gm

B. 264 gms

C.192 gm

D. 108 gms

Answer: B

o Watch Video Solution

7.To produce 3gm dry organic matter the amount of CO, fixed is

A.1.98 gm

B.20 gm

C. 163 gm

D.40gm


https://dl.doubtnut.com/l/_rv4Jy8krDrps
https://dl.doubtnut.com/l/_jdkrdd7ZhizX

Answer: C

° Watch Video Solution

8. Natural ecosystem may have helped to stabilize climate and prevent

overheating of the Earth by removing more of

A.The green house gases from atomosphere

B. CO, from the atmosphere

C. ground water

D. (1) and (2)

Answer: D

° Watch Video Solution

9. Amount of CO, abosorbed by plant to produce 180 gm of glucose


https://dl.doubtnut.com/l/_jdkrdd7ZhizX
https://dl.doubtnut.com/l/_icuNgRXrnQOB
https://dl.doubtnut.com/l/_3SbRXY3kRkln

A 216 gm

B. 264 gm

C.192 gm

D. 108 gm

Answer: B

o Watch Video Solution

10. The purpose of developing a carbon tax system in many countries is to

1) reduce greeen house gases

A.reduce green house gases

B. cut down CO5 in atmosphere

C. cut down CO in atmosphere

D. All the above

Answer: D



https://dl.doubtnut.com/l/_3SbRXY3kRkln
https://dl.doubtnut.com/l/_vHfBeqOGTMAy

| ° Watch Video Solution

11. An effective measure to prevent global warming is

A. Drip - irrigation

B. afforestation

C. to provide growth chambers

D. None

Answer: B

° Watch Video Solution

12. The amount of oxygen produced by a tree depends on

A. the species of tree

B. the age of tree

C.its health


https://dl.doubtnut.com/l/_vHfBeqOGTMAy
https://dl.doubtnut.com/l/_lLwkHOEfdg9p
https://dl.doubtnut.com/l/_8DOoqeHeXJqG

D. All the above

Answer: D

° Watch Video Solution

13."The lungs of the world" - are

A. Plants

B. Planktons

C. Human beings

D.1and 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8DOoqeHeXJqG
https://dl.doubtnut.com/l/_9Ycui1e1VXdA

14. Which of the following type of ecosystem is expected in an area where

evaporation exceeds precipitation, and mean annual rainfall is below

100mm

A. Grassland

B. Shrubby forest

C. Desert

D. Mangrove

Answer: C

o Watch Video Solution

15. Which of the following ecosystems is most productive in terms of net

primary production?

A. Deserts

B. Tropical rain forests


https://dl.doubtnut.com/l/_rCFCNJSmqDWA
https://dl.doubtnut.com/l/_CwwFqwVw5Fcj

C. Oceans

D. Estuaries

Answer: B

° Watch Video Solution

16. Among the following, where do you think the process of

decomposition would be the fastest?

A. Tropical rain forest

B. Antarctic

C.Dry arid region

D. Alpine region

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CwwFqwVw5Fcj
https://dl.doubtnut.com/l/_j0AIiTcypyT8
https://dl.doubtnut.com/l/_viGOIDFAX4wN

17. Approximately how much of the solar energy that falls on the leaves of
a plant is converted to chemical energy by photosynthesis?

A. Less than 1%

B. 2-10%

C.03

D.0.5

Answer: B

o Watch Video Solution

18. An inverted pyramid of biomass can be found In thch ecosystem?

A. Forest
B. Marine
C. Grass land

D. Tundra


https://dl.doubtnut.com/l/_viGOIDFAX4wN
https://dl.doubtnut.com/l/_ZouzekrtXTdj

Answer: B

° Watch Video Solution

Exercise li Ecosystem Structure And Function

1. Important types of forests in India

A. Tropical rain forests
B. Tropical deciduous forests
C.1and 2

D. Sandy forests

Answer: C

° Watch Video Solution

2. Important Grassland ecosystems are present in India are


https://dl.doubtnut.com/l/_ZouzekrtXTdj
https://dl.doubtnut.com/l/_BTcdoBLCnhjV
https://dl.doubtnut.com/l/_n5e8weSyE8NW

A. Himalayan region

B. Western Rajasthan

C. Western ghats

D.1and 2

Answer: A

o Watch Video Solution

3.In desert ecosystem in India rain fall per year is

A. More than 50 cm

B. More than 25 cm

C. In between 25 to 50cm

D. Less than 25 cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_n5e8weSyE8NW
https://dl.doubtnut.com/l/_OVZxjgtVlHL7

4. Hot type and cold type deserts located in India are, respectively

A. Ladakh, Rajasthan

B. Rajasthan, Ladakh

C. Himalayan, Eastern ghats

D. Eastern ghats, Himalayan

Answer: B

o Watch Video Solution

5. Mark the odd one (w.r.t second trophic level)

A. Wolf

B. Grasshopper

C. Cow


https://dl.doubtnut.com/l/_OVZxjgtVlHL7
https://dl.doubtnut.com/l/_XHlN4SXWGG65
https://dl.doubtnut.com/l/_EfJuZjDAPmFu

D. Zooplanktons

Answer: A

° Watch Video Solution

6. Which of the following pairs is not correct?

A. E.Haeckel-Coined the term 'Ecology’'

B. Tansley-Coined the term 'Ecosystem'

C. R. Mishra-Father of Indian Ecology

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EfJuZjDAPmFu
https://dl.doubtnut.com/l/_zdNEzTSId3v2

7. 1t- (1) Liver - Liver lobule
II. kidney- Uriniferous tubule
1. Ecolog:y - X
then what does"X" represent ?
A. Biotic community
B. Ecosystem

C. Population

D. All of the given

Answer: B

o Watch Video Solution

8. If the carbon atoms fixed by producers already have passed through

three species, the trophic level of the last species would be

A. scavenger


https://dl.doubtnut.com/l/_uw8BCut2xu77
https://dl.doubtnut.com/l/_hx7T3YHeMVXd

B. tertiary producers

C. tertiary consumer

D. secondary consumer

Answer: C

o Watch Video Solution

9. Which one of the following is not a correct match of the term and its

description?

A. Ecology-Environmental biology

B. Biosphere-The inhabited part of the earth

C. Biome-A major life zone characterized by the dominant plant life

present

D. Ecological level-Organisms occupying different equivalents niches in

same geographical area


https://dl.doubtnut.com/l/_hx7T3YHeMVXd
https://dl.doubtnut.com/l/_RbuZylcfpAxa

Answer: D

° Watch Video Solution

10. Which of the following represents largest man made ecosystem

A.Zoo

B. Garden

C. Aquarium

D. Agroecosystem

Answer: D

° Watch Video Solution

11. Which one of the following is the most productive ecosystem?

A. Temperate forest


https://dl.doubtnut.com/l/_RbuZylcfpAxa
https://dl.doubtnut.com/l/_5Lu2Q7KrihfP
https://dl.doubtnut.com/l/_UNFiVaFf2a9f

B. Grassland

C. Desert

D. Tropical rain forest

Answer: D

° Watch Video Solution

12. Which of the following aspects is not a component of functional unit

of ecosystem?

A. Productivity

B. Decomposition

C. Energy flow

D. Species composition

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UNFiVaFf2a9f
https://dl.doubtnut.com/l/_ciSCrgrhp5Ei

13.In a comparative study of grassland ecosystem and pond ecosystem, it

may be observed that

A. the abiotic components are almost similar

B. the biotic components are almost similar

C. both biotic and abiotic components are different

D. primary and secondary consumers are similar

Answer: B

o Watch Video Solution

14. Ecosystem may be defined as

A. A localised association of several plants and animals

B. Different communities of plants, animals and microbes together

with their physico chemical environments


https://dl.doubtnut.com/l/_ciSCrgrhp5Ei
https://dl.doubtnut.com/l/_vM0T8DsfxVLt
https://dl.doubtnut.com/l/_cPTxbJ7kG5W6

C.Different communities of plants and micro besplus their
physicochemical environments

D. None of these

Answer: B

° Watch Video Solution

15. which is correct for ecosystem

A. Community formed by various species present in a particular
region.

B. (Plants, Animals, Microorganisms) + Abiotic environment

C. Animal, plants and micro-organisms.

D. Abiotic factors

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cPTxbJ7kG5W6
https://dl.doubtnut.com/l/_9n03zDdnlxXY

16. Stratification is well developed in

A. Tropical rain forests

B. Grasslands

C. Tundras

D. Deserts

Answer: A

° Watch Video Solution

17. Least productive ecosystem is

A. Grassland

B. Savannah

C. Forest


https://dl.doubtnut.com/l/_9n03zDdnlxXY
https://dl.doubtnut.com/l/_U4rRP6SmWioc
https://dl.doubtnut.com/l/_A6DKF5Bor3i7

D. Tundra

Answer: D

° Watch Video Solution

18. Largest ecosystem of the world are

A. Forests

B. Grass lands

C. Great lakes

D. Oceans

Answer: D

o Watch Video Solution

19. Which of the following is a man made artificial ecosystem?


https://dl.doubtnut.com/l/_A6DKF5Bor3i7
https://dl.doubtnut.com/l/_ybojY26JzwJx
https://dl.doubtnut.com/l/_rtMUmIWGgIUh

A. Grassland ecosystem

B. Forest ecosystem

C. Ecosystem of artificial lakes & dams

D. None of these

Answer: C

o Watch Video Solution

20.Apondis a

A. Biome

B. Natural ecosystem

C. Artificial ecosystem

D. Community of plants

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rtMUmIWGgIUh
https://dl.doubtnut.com/l/_M0V5ToJgT6fN

21. What is correct for the artificial ecosystem ?

A. Ecosystem is cannot be form by human
B. Biodiversity is high
C. Biodiversity is less

D. It is more stable than natural ecosystem

Answer: C

o Watch Video Solution

22. Ecosytem of still or stagnant water bodies is called

A. Pelagic

B. Benthic

C. Lentic


https://dl.doubtnut.com/l/_M0V5ToJgT6fN
https://dl.doubtnut.com/l/_rQKZV3aEaNU6
https://dl.doubtnut.com/l/_dAqYfpKxmlP1

D. Lotic

Answer: C

° Watch Video Solution

23. X is source of Y but Y never return to X, Then which option is wrong

for X and Y?

A. X = plant, Y= organic compound

B.Aand D are wrong

C.a & b Both are correct

D. X=sun, Y=Energy

Answer: B

° Watch Video Solution

Exercise li Productivity



https://dl.doubtnut.com/l/_dAqYfpKxmlP1
https://dl.doubtnut.com/l/_raOkP6iC92vq

1. Primary productivity depends upon

A.light and temperature

B. water and nutrients

C. photosynthetic capacity of producers

D. all of these

Answer: D

o Watch Video Solution

2.Read the following statements and select the correct option:
(a) Net primary productivity is less than the gross primary productivity
(b) Net primary productivity is equal to the gross primary productivity

minus the respiration losses

A. Both (a) and (b) are true.

B. (b) is correct but (a) is false.


https://dl.doubtnut.com/l/_6uOvchQrZMrH
https://dl.doubtnut.com/l/_IhfQXY06F5uf

C.(a) is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: A

o Watch Video Solution

3. Arrange the following ecosystems in increasing order of their mean
NPP (tons/ha/year).

(A) Tropical deciduous forest

(B) Temperate coniferous forest

(C) Tropical rainforest

(D) Temperate deciduous forest

AB<A<D<C

BD<B<A<C

CA<(C<D<B

DDB<D<A<C


https://dl.doubtnut.com/l/_IhfQXY06F5uf
https://dl.doubtnut.com/l/_69IN9I8zJz6t

Answer: D

° Watch Video Solution

4. The annual net primary productivity of the whole biosphere is

approximately

A. 150 billion tons

B. 160 billion tons

C. 170 billion tons

D. 180 billion tons

Answer: C

° Watch Video Solution

5. Productivity at the second trophic level is always.


https://dl.doubtnut.com/l/_69IN9I8zJz6t
https://dl.doubtnut.com/l/_Umjk97N0qqok
https://dl.doubtnut.com/l/_YKqCibG7zHyU

A. greater than the productivity at the first trophic level

B. less than the productivity at the first trophic level

C. equal to the productivity at the first trophic level

D. extremely variable compared to the productivity at the first trophic

level

Answer: B

o Watch Video Solution

6. The rate of formation of new organic matter by rabbit in a grassland, is

called.

A. net productivity

B. secondary productivity

C. net primary productivity

D. gross primary productivity


https://dl.doubtnut.com/l/_YKqCibG7zHyU
https://dl.doubtnut.com/l/_8Qcx7Hp3iQb7

Answer: B

° Watch Video Solution

7. How much of the net primary productivity of a terrestrial ecosystem is

eaten and digested by herbivores?

Al%

B.10 %

C.40 %

D.90 %

Answer: B

° Watch Video Solution

8. Match Column-l with Column-Il and select the correct option from the

codes given below.


https://dl.doubtnut.com/l/_8Qcx7Hp3iQb7
https://dl.doubtnut.com/l/_j5CvSGie3bBJ
https://dl.doubtnut.com/l/_JvMvILi05mYb

Column-1 Column-11
(a) Gross primary (i) Creen plants
productivity
(b} Secondary (11} Rate of synthesis
productivity of organic maller
by consumers
(¢) Transducers (ii) Total organic matter
produced fro
solar enecrgy
(d) Food web {(iv) Imterlocking pattern
(a) ib) i) (d)
1y (@  Gi) () @v)
2) () G G (v
3) (i) Gv) (D G)
4) Gy )y Gv) (i)

o Watch Video Solution

9. The rate of conversion of light energy into chemical energy of organic

molecules in an ecosystem is

A. net primary productivity

B. gross primary productivity

C. secondary productivity


https://dl.doubtnut.com/l/_JvMvILi05mYb
https://dl.doubtnut.com/l/_7E0nIFuxs9Kp

D. gross secondary productivity

Answer: B

° Watch Video Solution

10. Which one of the following exhibits least productivity?

A. Salty marshes

B. Grasslands

C. Open oceans

D. Coral reefs

Answer: C

o Watch Video Solution

11. Magnitude of primary productivity is affected by


https://dl.doubtnut.com/l/_7E0nIFuxs9Kp
https://dl.doubtnut.com/l/_CKQ8ixV5RPMK
https://dl.doubtnut.com/l/_3AzRrrzBQgyf

A. Temperature, Availability of nutrients

B. Solar radiations available, Availability of nutrients

C. Photosynthetic capacity of producers

D. All of these

Answer: D

o Watch Video Solution

12. Choose incorrect option wrt. amount of living material present in

different trophic levels at a given time

A. Can be measured as number

B. Is equivalent to standing crop

C.Is always represented as dry weight

D. Expressed both as biomass and number

Answer: C



https://dl.doubtnut.com/l/_3AzRrrzBQgyf
https://dl.doubtnut.com/l/_7LdsfaRHb9vb

| ° Watch Video Solution

13. Which one is the maximum suitable to from top of the energy
pyramid?

A. Secondary consumer

B. Tertiary consumer

C. Producers

D. Primary consumer

Answer: B

o Watch Video Solution

Exercise li Decomposition

1. which of the following is not characteristic of humus?


https://dl.doubtnut.com/l/_7LdsfaRHb9vb
https://dl.doubtnut.com/l/_YH1JjMPLrvt7
https://dl.doubtnut.com/l/_gs1kFX9FghcL

A. It is rich in organic matter such as lignin and cellulose.

B. It is colloidal in nature and serves as a reservoir of nutrients.

C.It is highly resistant to microbial action and undergoes slow

decomposition.

D. It is further degraded by the process of humification.

Answer: D

o Watch Video Solution

2. During the process of decompositon

A. C O, is consumed and O, is released

B. O, is consumed and CO, is released

C.COy is consumed and H,O is released

D. None of these

Answer: B


https://dl.doubtnut.com/l/_gs1kFX9FghcL
https://dl.doubtnut.com/l/_t6R1EzHxIHof

° Watch Video Solution

3. Rate of decompositon depends upon

A. chemical composition of detritus

B. temperature

C. soil moisture and soil pH

D. all of these

Answer: D

o Watch Video Solution

4. Decomposers are also called as

A. transducers

B. reducers

C. micro-consumers


https://dl.doubtnut.com/l/_t6R1EzHxIHof
https://dl.doubtnut.com/l/_pEcp2zfAKoVb
https://dl.doubtnut.com/l/_LBsgV5opyHUx

D. both (2) and (3)

Answer: D

o Watch Video Solution

5.Read the given statements and select the correct option. Statement 1:
Decomposition is the physical and chemical breakdown of complex
organic matter into simple inorganic substances.
Statements 2: Humification is the process of formation of humus from
detritus or organic remains.

A. (b) is correct but (a) is false.

B. Both (a) and (b) are true.

C.(a) is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_LBsgV5opyHUx
https://dl.doubtnut.com/l/_rkMdPYXZBzJp

6. Decomposers like fungi and bacteria are
(i) Autotrophs (ii) Heterotrophs
Saprotrophs
(iv) Chemo-autotrophs
Choose the correct answer

A. i and iii

B.iand iv

C.ii and iii

D.iand i

Answer: C

o Watch Video Solution

7. The process of mineralisation by micro organisms helps in the release

of


https://dl.doubtnut.com/l/_rkMdPYXZBzJp
https://dl.doubtnut.com/l/_pGTfNG0GQXyT
https://dl.doubtnut.com/l/_bmVVXdvgC1YJ

A. inorganic nutrients from humus

B. both organic and inorganic nutrients from detritus

C. organic nutrients from humus

D. inorganic nutrients from detritus and formation of humus.

Answer: A

o Watch Video Solution

8.1In an ecosystem, which of the following is unidirectional?

A. Sulphur

B. Organic nutrient

C. Carbon

D. Free energy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bmVVXdvgC1YJ
https://dl.doubtnut.com/l/_jwTwtYHAp174

9. If we completely remove the decomposers from an ecosystem , the

ecosystem functioning will be adversely affected because :

A. Mineral movement will be blocked

B. Herbivores will not receive solar energy

C. Energy flow will be blocked

D. Rate of decomposition of other components will be very high

Answer: A

° Watch Video Solution

10. Buildup of organic material in soil is under which of the following

conditions to

A. < 10° C temperature, Absence of oxygen

B. Warm temperature, Humid environment


https://dl.doubtnut.com/l/_jwTwtYHAp174
https://dl.doubtnut.com/l/_BQRMo49ayLHK
https://dl.doubtnut.com/l/_Kd4f2YkMBW7t

C. Aerobic condition, > 25°C temperature

D. Nitrogen rich detritus, optimum moisture

Answer: A

° Watch Video Solution

11. Mineralisation is performed by

A. Small carnivores

B. Detrivores

C. Saprophytic bacteria and fungi

D. Earthworm, termites

Answer: C

° Watch Video Solution

Exercise li Energy Flow



https://dl.doubtnut.com/l/_Kd4f2YkMBW7t
https://dl.doubtnut.com/l/_53yex8ft31L8

1. In which of the following alimentary canal,"starch glycogen" is produced

?
A. Producer
B. 1st trophic level
C. 2nd trophic level
D. All the above
Answer: B

o Watch Video Solution

2.1f 10 joules of energy is available at the producer level, then amount of

energy present at the level of secondary consumer is

A.10)

B.1)


https://dl.doubtnut.com/l/_b5ocgip8Kf8Y
https://dl.doubtnut.com/l/_3xoQxd0JwtaH

C.0J)

D. 0.01)

Answer: C

° Watch Video Solution

3. Percentage of photosynthetically active radiation (PAR) in the incident

solar radiation is

Al—-5%

B.2 —10%

C. less than 50%

D. approx. 100%

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3xoQxd0JwtaH
https://dl.doubtnut.com/l/_cyKj66m69naQ
https://dl.doubtnut.com/l/_DFj1xJcPJxbl

4. Percentage of photosyntetically active radiation (PAR) that is captured

by plants in synthesis of organic matter is

A.50-70%

B.30-40%

C.80-100%

D.2-10%

Answer: D

° Watch Video Solution

Exercise li Trophic Levels And Food Chains

1. The maximum energy is stored at which of the following tropical level in

any ecosystem:-

A. Producers


https://dl.doubtnut.com/l/_DFj1xJcPJxbl
https://dl.doubtnut.com/l/_y7An6i7Wmdbz

B. Herbivores

C. Carnivores

D. Top carnivores

Answer: A

° Watch Video Solution

2. Which one is omnivorous-

A. Frog

B. Lion

C. Deer

D. Man

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_y7An6i7Wmdbz
https://dl.doubtnut.com/l/_ttFgKvE5unpu
https://dl.doubtnut.com/l/_bywpfopwYFD6

3. Which of the following trophic levels are occupied by sparrow ?

A. Primary consumer, primary producer

B. Secondary consumer, top carnivore

C. Primary producer, secondary producer

D. Primary consumer, secondary consumer

Answer: D

o Watch Video Solution

4. Which of the following are called key industry animals?

A. Autotrophs

B. Decomposers

C. Herbivores

D. Top carnivores


https://dl.doubtnut.com/l/_bywpfopwYFD6
https://dl.doubtnut.com/l/_iThNijUOzJUv

Answer: C

° Watch Video Solution

5. The number of trophic levels in a food chain is limited to 4 or 5 because

A. the amount of food produced by producer is limited

B. Consumer's demand is high

C.90% of the food is lost as heat at each transfer between trophic

levels

D. Activity of decomposer is poor

Answer: C

o Watch Video Solution

6. The number of individuals in each trophic level depends upon the


https://dl.doubtnut.com/l/_iThNijUOzJUv
https://dl.doubtnut.com/l/_LvogfO2uGXq4
https://dl.doubtnut.com/l/_p2wFsQnrzZ15

A. number of individuals at higher trophic level

B. The number of individuals at the lower trophic level

C. number of food chains present

D. amount of sunlight available

Answer: B

o Watch Video Solution

7. Mr. X is eating curd/yoghut. For this food intake in a food chain he

should be considered as occupying

A. First trophic level

B. Second trophic level

C. Third trophic level

D. Fourth trophic level

Answer: C



https://dl.doubtnut.com/l/_p2wFsQnrzZ15
https://dl.doubtnut.com/l/_BqKmJ1picnWG

| ° Watch Video Solution

8. Given figure represents food chains of a deciduous woodland linked

together to form a food web.

;_.h—_...-_.m
g *‘f e

Which of the following constitute first trophic level of the grazing food

chain and the detritus food chain respectively ?

A. Living oak leaf and dead oak leaf

B. Living oak leaf and earthworm

C. Moth caterpillar and earthworm

D. Living oak leaf in both

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BqKmJ1picnWG
https://dl.doubtnut.com/l/_Ph5Fnnv1VrtA

9. Study the food web given below and answer the questions that follow.

Woater Nrs ——— Sl Gk
/ v Vi

Phyroplankons o [arvae I"]t.*:h

t\ Vil TN o f

Todpoles g hoatman
|| m

Which of the following organisms in the given food web act both as a
predator and a prey?

Al,lland IV

B. 1, Il and IV

C.I, LV, VI& VI

D. I, 1l and VI

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ph5Fnnv1VrtA
https://dl.doubtnut.com/l/_RwaA9JKzgAJL
https://dl.doubtnut.com/l/_B4tyuOYTEaKK

10. Study the food web given below and answer the questions that follow.

Water Mg —— Sl sk
/ v Vi

Phyroplankons o L arvae ['::h

t \ i ‘.\" wiler /-d'

Tadpoles —_—pe  boatman
{| I

Which of the following organisms in the given food web acts as a
secondary consumer ?

A lland V

B. Il and VI

C. Vil only

D. IV only

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_B4tyuOYTEaKK

11. Read the following statements and select the correct option:
(a) Herbivores are also called as first order consumers.
(b) Herbivores obtain their food directly from plants.

A. Both (a) and (b) are true.

B. (b) is correct but (a) is false.

C.(a) is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: A

o Watch Video Solution

12. Choose the incorrect food chain.

A.Grass — Grasshopper — Frog — Snake — Eagle
B. Phytoplanktons — Zooplanktons — Small fish — Large fish

C.Diatoms — Zooplanktons — Small fish


https://dl.doubtnut.com/l/_U0kcC9KprAsa
https://dl.doubtnut.com/l/_3ZRMtvFVUrks

D.Grass — Frog — Vulture

Answer: D

o Watch Video Solution

13. Read the following statements and select the correct ones.

(i) A given species may occupy more than one trophic level in the same
ecosystem at the same time.

(i) Productivity of an aquatic ecosystem is less than that of a terrestrial
ecosystem.

(iii) Producers constitute the first trophic level of a detritus food chain.

A)iandii
B) ii and iii
C) i and iii

D) i, ii and iii

A. (i) and (ii)


https://dl.doubtnut.com/l/_3ZRMtvFVUrks
https://dl.doubtnut.com/l/_3hGi3DJ4Xdd9

B. (ii) and (iii)

C. (i) and (iii)

D. (i), (ii) and (iii)

Answer: A

° Watch Video Solution

14. Organisms which are associated with first as well as third trophic level

are

A. Macrophytes

B. Phytoplanktons

C. Chemoautotrophs

D. Insectivorous plants

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3hGi3DJ4Xdd9
https://dl.doubtnut.com/l/_uffrhoo5ajuG

15.In a grassland ecosystem, if the number of primary producers (plants)

is approximately 6 million, the number of top carnivors. Which may be

supported by them will be

A3

B.30

C.6

D. 60

Answer: A

o Watch Video Solution

16. In the given food web, an increase in the population of hawks will not

result in


https://dl.doubtnut.com/l/_uffrhoo5ajuG
https://dl.doubtnut.com/l/_BVm8iSWGOgDV
https://dl.doubtnut.com/l/_eruGM4ctVUv6

A.increase in the population of rabbits and snakes

B. increase in the population of producers

C. decrease in the population of lizards

D. increase in the population of grasshoppers

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eruGM4ctVUv6

17. Select the option that correctly identifies A, B and C in the given table.

Organism  Trophic level  Food chain

Eagle A Crruzing
Earthworm  Primary consumer B
Frog C Grazing
A 1] C
1) Secondary Top camivore | Detritus
consumer
2)| Top camivore | Detritus Secondary
consumer
3]l Secondary Grazing Secondary
consumer consumer
4)| Scavanger Grazing Producer

° Watch Video Solution

18. Study the following statements concerning food chains and select the

correct ones.

(i) Removal of 80% of tigers from an area resulted in greatly increased

growth of vegetation.

(ii) Removal of most of the carnivores resulted in an increased population

of deer.


https://dl.doubtnut.com/l/_IH4Rsavmy1iV
https://dl.doubtnut.com/l/_BCUtwJf5hN5Q

(iii)The length of food chains is generally limited to 3-4 trophic levels due

to energy loss.

(iv) The length of food chains may vary from 2 to 8 trophic levels.

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iii)

D. (iii) and (iv)

Answer: B

o Watch Video Solution

19. Given food web contains some missing organisms, 1,2,3 and 4. Identify

these organisms and select the correct answer?


https://dl.doubtnut.com/l/_BCUtwJf5hN5Q
https://dl.doubtnut.com/l/_Aug663U4WGMf

LlOIl
_w Hawk
Snake
arden (3)
leard

(4) Sparrow

Mice Grass-
N T/‘ hoppy'/'
Vegetation/Seeds

o Watch Video Solution

20. In an aquatic ecosystem, the organism present at the trophic level

equivalent to cows in grasslands is

A. phytoplankton

B. large fishes

C.sea gulls

D. zooplankton

Answer: D

(N |


https://dl.doubtnut.com/l/_Aug663U4WGMf
https://dl.doubtnut.com/l/_h1VcDMkUPegJ

[ W Watch Video Solution

21. Animals which occupy the same trophic level

A.Tiger and bear
B. Deer and bees
C. Snake and earthworm

D. Crow and cow

Answer: B

° Watch Video Solution

22.Food chains are met with only in the

A. Sea
B. Cities

C. Forests


https://dl.doubtnut.com/l/_h1VcDMkUPegJ
https://dl.doubtnut.com/l/_0X4mubJiGSub
https://dl.doubtnut.com/l/_gIAApQSzoMb4

D. In all the places

Answer: D

° Watch Video Solution

23. Where there is no difference

A.T; and herbivores

B. primary consumers and herbivores

C. primary carnivores and 75

D. secondary consumers and herbivores

Answer: B

o Watch Video Solution

24.Trees — Birds — Lice — Bacteria Above food chain is


https://dl.doubtnut.com/l/_gIAApQSzoMb4
https://dl.doubtnut.com/l/_HAGPagwYQYum
https://dl.doubtnut.com/l/_C71zTNInj18s

A. Predatory

B. Grazing

C. Detritus

D. Parasitic

Answer: D

o Watch Video Solution

25. Which of the following organisms convert plant matter into animal

matter ?

A. Earth worm

B. Goat

C. Beetles

D. Frog

Answer: B



https://dl.doubtnut.com/l/_C71zTNInj18s
https://dl.doubtnut.com/l/_JKQjbDBWgVpV

| o Watch Video Solution

26. What kind pyramid is represented by the given figure ?

https://haygot.s3.amazonaws.com/questions/929221 4dbe11c723cb43258136¢¢

A. Pyramid of numbers in a forest ecosystem

B. Pyramid of numbers in a parasitic food chain

C. Pyramid of biomass in forest ecosystem

D. It is a wrong pyramid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JKQjbDBWgVpV
https://dl.doubtnut.com/l/_hA7okKW6LUCU

27. Which kind of the pyramid is represented by the given figure

A. Inverted pyramid of numbers

B. Inverted pyramid of biomass

C. Inverted pyramid of energy

D. Both (1) and (2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DPlEcbNniqLP

28.The given pyramid does not represents

A. pyramid of energy in forest ecosystem

B. pyramid of biomass in forest ecosystem

C. pyramid of numbers in grassland ecosystem

D. pyramid of numbers in forest ecosystem

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DPlEcbNniqLP
https://dl.doubtnut.com/l/_iRT5V3inOTzM

29. Read the following statements and select the correct option:
(a) In an aquatic ecosystem, pyramid of biomass is inverted.
(b)Biomass depends upon reproductive potential and longevity of
individuals.
A. Both (a) and (b) are true
B. (b) is correct but (a) is false

C.(a) is correct but (b) is false

D. Both (a) and (b) are false

Answer: A

o Watch Video Solution

30. Which of the following acts as a primary as well a secondary consumer

in the forest eco-system?


https://dl.doubtnut.com/l/_7Lw7qY9eQiKN
https://dl.doubtnut.com/l/_36HhAcKc0TIr

A

=
N
=
s

B.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_36HhAcKc0TIr

31. Study the following statements and select the incorrect one.

A. Shorter food chains provide more energy as compared to longer

food chains.

B. Ecological factors connected with physical geography of earth are

called topographic factors

C. The pyramid of biomass is upright in a grassland ecosystem and the

pyramid of numbers is upright in a parasitic food chain.

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FClVTALMKFOy

32. Which kind of pyramid is represented by the given figure?

I

A. Pyramid of numbers in terrestrial ecosystem

B. Pyramid of biomass in terrestrial ecosystem

C. Pyramid of biomass in aquatic ecosystem

D. Pyramid of numbers in aquatic ecosystem

Answer: C

o Watch Video Solution

33. Pyramid of biomass for a grazing food chain represents

A. gradual decrease in biomass from apex to base


https://dl.doubtnut.com/l/_zpJFW1UyMok3
https://dl.doubtnut.com/l/_W2qt05T9nB9V

B.gradual decrease in biomass from producers to the tertiary

consumers

C.gradual increase of the biomass from producers to the tertiary

consumers

D. no change in biomass

Answer: B

o Watch Video Solution

34. Given figure represents a pyramid of biomass in an aquatic ecosystem.

Dry weight (Kg m )
B 21

Identify A and B and select the correct answer.
(i) Ais the crop which supporsts and B is the crop which is supported.

(ii) A'is the crop which is supported and B is the crop which supports.


https://dl.doubtnut.com/l/_W2qt05T9nB9V
https://dl.doubtnut.com/l/_ITRhJy3pMG3z

(iii) Ais phytoplanktons and B is zooplanktons.

(iv) Ais zooplanktons and B is phytoplanktons.

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (iii)

D. (ii) and (iv)

Answer: C

o Watch Video Solution

35. Which of the following organisms were not given any place in

ecological pyramids ?

A. Working at several trophic levels

B. Decomposers

C. Parasites


https://dl.doubtnut.com/l/_ITRhJy3pMG3z
https://dl.doubtnut.com/l/_wQ4aHmPtukbY

D. More than one option is correct

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wQ4aHmPtukbY

36. Study the following ecological pyramids carefully.

Tertiary consumer (TC)

3,54,000
7,08,000
| 5,842,000

Secondary consumer (SC)

Primary consumer (PC)

Primary producer (PP) [f

1.6

11
37
809

C

Mathc the following statements Lii and iii with gien pyramidsa, B and C
and select the correct answer.
(i) Inverted pyramid of biomass depicting small standing crop of

phytoplanktons supporintg a large standing crop of zooplanktons


https://dl.doubtnut.com/l/_BjuSkEma1OvJ

(ii) Pyramid of numbers in a grassland ecosytems showing about 6 milion
producers.

(iii) Upright pyramid of biomass

o Watch Video Solution

37.Study the following statements and select the incorrect ones.

(i) Pyramids of energy and yearly biomass production can never be
inverted, since this would violate the laws of thermodynamics.

(i) Pyramids of standing crop and numbers can be inverted, since the
number of organisms at a time does not indicate the amount of energy
flowing through the system.

(iii) There are certain limitations of ecological pyramids such as they do
not take into account the same species belonging to two or more trophic
levels.

(iv) Saprohytes are not given any place in ecological pyramids even

though they play a vital role in the ecosystem.

A. (i) and (iii)


https://dl.doubtnut.com/l/_BjuSkEma1OvJ
https://dl.doubtnut.com/l/_jDIRMNWXgn81

B. (iii) and (iv)

C. (ii) and (iii)

D. none of these

Answer: D

° Watch Video Solution

38. Which statement is correct?

A. Plant uses C O, during respiration

B.In all CO, acceptor plants, organic compounds are produce

through photosynthesis

C. Biomass of the plant is available to only herbivores

D. All three

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jDIRMNWXgn81
https://dl.doubtnut.com/l/_DLK19lxpSmLs

Exercise li Plant Succession

1. Arrange the following seral stages in correct sequence with regards to
primarysuccession in water
A. Phytoplanktons — Marsh meadow stage — Reed swamp Stage
— Scrub stage — Forest
B.Reed swamp stage — Phytoplanktons — Marsh meadow stage
— Forest — Scrub stage
C. Phytoplanktons — Marsh meadow stage — Forest — Scrub
stage.
D. Phytoplanktons — Submerged plant stage — Free floating
stage — Reed swamp stage — Marsh meadow stage — Scrub

stage — Forest

Answer: D


https://dl.doubtnut.com/l/_DLK19lxpSmLs
https://dl.doubtnut.com/l/_4oWIp2jRtanM

° Watch Video Solution

2. During the process of ecological succession the changes that take

place in communities are

A. orderly and sequential

B.random

C. very quick

D. not influenced by the physical environment

Answer: A

o Watch Video Solution

3. Climax community is in a state of

A. non-equilibrium

B. equilibrium


https://dl.doubtnut.com/l/_4oWIp2jRtanM
https://dl.doubtnut.com/l/_YnK9JuGCUfPG
https://dl.doubtnut.com/l/_wEkWpjEkcgwG

C.disorder

D. constant change

Answer: B

° Watch Video Solution

4, Choose the incorrect statement.

A. All successions takes place in water orland proceeds to a similar

climax community i.e mesic

B.When compared to primary succession, secondary succession

occurs very fastly to reach climax

C. Mesic condition is either too dry or too wet

D. In primary succession on rocks the pioneer species are the lichens

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wEkWpjEkcgwG
https://dl.doubtnut.com/l/_J22OREzTjX6I

5. Match Column-l with Column-Il and select the correct option from the

codes given below.

Column-1 Column-I1
(a) Bacteria (1) Prisere
(b)Green plants (i) Transducers
(c) Primary (ili) Lithosere

succession

(d)Succession on  {iv) Micro-consumers
bare rock (v) Subsere
(m) (h) (c) (d)
1y (v) G G (D)
2) (v} (i) (D (id)
3 @ G G Gv)
4) (ivy Gy G (@)

o Watch Video Solution

6. Species that invade an area in secondary succession depend on

A. Condition of soil

B. Availability of water


https://dl.doubtnut.com/l/_J22OREzTjX6I
https://dl.doubtnut.com/l/_5JJIuzxoExCk
https://dl.doubtnut.com/l/_v6NP5fZpdv0X

C. Seeds/propafules present in the soil

D. All the above

Answer: D

° Watch Video Solution

7. primary succession refers to the development of communities on a :

A. area destroyed due to forest fire

B. newly formed river delta

C. harvested crop field

D. all of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_v6NP5fZpdv0X
https://dl.doubtnut.com/l/_e2Tg66qRttvz

8. Successions that occur on soils or areas which have recently lost their

community are referred to as

A. primary successions

B. secondary successions

C. lithoseres

D. priseres

Answer: B

o Watch Video Solution

9. In lithosere, foliose lichens make the conditions favourable for the

growth of

A. crustose lichens

B. mosses

C.annual grasses


https://dl.doubtnut.com/l/_M3Rget2iXQhh
https://dl.doubtnut.com/l/_9rqYOpFDm9Hv

D. perennial grasses

Answer: B

o Watch Video Solution

10. Select the correct sequence of succession in a pond.

1) Submerged plants — Floating plants — Reed swamp stage —
Sedges

2) Floating plants — Submerged plants — redd swamp stage —
Sedges

3) Reed swamp stage — Sedges — Floating plants — Submerged
plants

4) Sedges — Reed swamp stage — Floating plants — Submerged

plants

A.Submerged plants — Floating plants — Reed swamp stage —

Sedges


https://dl.doubtnut.com/l/_9rqYOpFDm9Hv
https://dl.doubtnut.com/l/_lG3UCSCTZ1M1

B. Floating plants — Submerged plants — Reed swamp stage —

Sedges

C.Reed swamp stage — Sedges — Floating plants —

Submerged plants

D.Sedges — Reed swamp stage — Floating plants —

Submerged plants

Answer: A

° Watch Video Solution

11. Correct sequence of stages of succession on a bare rock is:
1) Lichens — Mosses — Grasses — Shrubs — Trees
2) Trees — Shrubs — Lichens — Mosses — Grasses
3) Mosses — Shrubs — Trees — Lichens — Grasses

4) Mosses — Lichens — Grasses — Shrubs — Trees.

A. Lichens — Mosses — Grasses — Shrubs — Trees



https://dl.doubtnut.com/l/_lG3UCSCTZ1M1
https://dl.doubtnut.com/l/_hJuOI28QFfHl

B. Trees — Shrubs — Lichens — Mosses — Grasses

C. Mosses — Shrubs — Trees — Lichens ‘to Grasses

D. Mosses — Lichens — Grasses — Shrubs — Trees

Answer: A

o Watch Video Solution

12. Match Column-l with Column-Il and select the correct option from the

codes given below.


https://dl.doubtnut.com/l/_hJuOI28QFfHl
https://dl.doubtnut.com/l/_w6HqFGXEDWzg

Column-l Column-11

() presence of 3-4 (i) Blue green algue
storeyed plant
Erowns i a forest

iby A biome having (i} Stratification
grasses with
scaliered Imocs

{¢1  Man made (i) Savannah
ecosyslem

() Pwoneer in {ivl Dam
hydrosere
im) (b} (c) id)

1y (in) (i) (iv) (i)

2y i) (1) (i) (v}

3 ()  (iv) (1)

4) (i) {1v) (1) (1)

° Watch Video Solution

13. Read the given statements and select the correct option:

Statement 1: Pioneer community is the stable and final biotic community

of an ecological succession.
Statement 2 :

specialisation.

Pioneer community has maximum diversity and niche


https://dl.doubtnut.com/l/_w6HqFGXEDWzg
https://dl.doubtnut.com/l/_Omy8A8NHCZov

A. (b) is correct but (a) is false

B. Both (a) and (b) are true.

C.(a) is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: A

o Watch Video Solution

14. Correct sequence of stages of succession on a bare rock is:
1) Lichens — Mosses — Grasses — Shrubs — Trees
2) Trees — Shrubs — Lichens — Mosses — Grasses
3) Mosses — Shrubs — Trees — Lichens — Grasses

4) Mosses — Lichens — Grasses — Shrubs — Trees.

A. Foliose lichens — Crustose lichens — Mosses — Annual

grasses — Perennial grasses — Shrubs — Trees



https://dl.doubtnut.com/l/_Omy8A8NHCZov
https://dl.doubtnut.com/l/_iGrIAxMO7LEe

B. Crustose lichens — Foliose lichens — Mosses — Perennial

grasses — Annual grasses — Shrubs — Trees

C.Crustose lichens — Foliose lichens — Mosses — Annual

grasses — Perennial grasses — Shrubs — Trees

D. Crustose lichens — Foliose lichens — Mosses — Annual

grasses — Shrubs — Perennial grasses — Shrubs —

Perennial grasses — Trees

Answer: C

o Watch Video Solution

15.In the given figure AB,C,DE and F represent some stages of hydrosere,

Select the correct statement regarding these.


https://dl.doubtnut.com/l/_iGrIAxMO7LEe
https://dl.doubtnut.com/l/_9Gjc4SfryNyV

A. Hydrilla and Potamogeton occur in stage A, Nymphaea and Pistia

occur in stage B

B. Phragmites and Typha occur in stage C, Carex and Cyperus occur in

stage D

C. Salix and Populus occur in stage E, Acer and Quercus occur in stage

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9Gjc4SfryNyV

16. An ecosystem which can be easily damaged but can recover after some

time if damaging effect stops will be having

A. low stability and high resilience

B. high stability and low resilience

C. low stability and low resilience

D. high stability and high resilience

Answer: A

° Watch Video Solution

17. Match the following columns

Column-I Column-11
A) Golden rice i)  Armyworm
B) Bt Toxin 1) Rich in vitamin A
C) RNAi iii) Cry protein

D) Lepidopterans iv) Gene silencing


https://dl.doubtnut.com/l/_9Gjc4SfryNyV
https://dl.doubtnut.com/l/_OFuo0qVZ5Vkm
https://dl.doubtnut.com/l/_BEVOxCoPfuRL

A.B

B.D

C.A

D.E

Answer: A

o Watch Video Solution

18. The correct sequence of plants in a hydrosere is

A.Volvox — Hydrilla — Pistia — Scirpus — Carex — Quercus

B. Pistia — Volvox — Scirpus — Hydrilla Quercus — Carex

C.Quercus — Carex — Volvox — Hydrilla — Pistia - Scirpus

D.Quercus — Carex — Scirpus — Pistia — Hydrilla — Volvox

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BEVOxCoPfuRL
https://dl.doubtnut.com/l/_kBXWo3dIyLQ2

19. The second stage of hydrosere is occupied by plants like:

A. Azolla

B. Typha

C. Carex

D. Vallisneria

Answer: D

o Watch Video Solution

20. Which one of the following statements is correct for secondary

succession?

A. It begins on a bare rock

B. It occurs on a deforested site

C. It follows primary succession


https://dl.doubtnut.com/l/_kBXWo3dIyLQ2
https://dl.doubtnut.com/l/_p9OuxG1UWnMG
https://dl.doubtnut.com/l/_XzOF5mPWxzki

D. It is similar to primary succession except that primary succession

has a relatively fast place

Answer: B

° Watch Video Solution

21. Given below are some of the stages of the hydrarch.

(A) March-meadow stage

(B) Reed-swamp stage

(C) submerged plant stage (D) Phyotplankton stage

Select the option that represents the correct sequence of these stages.
A.D,C,E,Band A
B.C,E,A,Band D

C.B,D,C,Aand E

D.D,E,C,Band A


https://dl.doubtnut.com/l/_XzOF5mPWxzki
https://dl.doubtnut.com/l/_Ec5ULMN52yNy

Answer: A

° Watch Video Solution

22. Which of the following is considered as pioneer community is xerarch?

A. Annual herbs

B. Perennial herbs

C. Shrubs

D. Lichens

Answer: D

° Watch Video Solution

23. Match Column-l with Column-Il and select the correct option from the

codes given below.


https://dl.doubtnut.com/l/_Ec5ULMN52yNy
https://dl.doubtnut.com/l/_Ps0nNHsmnQLw
https://dl.doubtnut.com/l/_9B5hWbfZwfA1

(&)

(b}

(c)

()

1)
2)
3)
4)

Column-|

Pioneers

Aulogenic
succession

Allogemic
SUCCession

Ecesis

(@) (h)
(iv) (i)
G
(i) ()
(D (iv)

in)

Y

(v}
ic)
(i)
(ii)
(iv)
(iii)

o

Column-11
Vegetation which
modifics s own
environment and
thus causing its own
replacement
Replacement of
existing community
by external
conditions
Establishment of
ofganisms in an
arca into which they
have come by
dispersal or
migration
Primary colonisers

(d)

(i)

(iv)

(iid)

(id)

o Watch Video Solution



https://dl.doubtnut.com/l/_9B5hWbfZwfA1

24. Match Column-l with Column-Il and select the correct option from the

codes given below.

Column-1

la) Artemisia 1)
tridentata

(b} Capparis (u)
yPIRnOSd

(c) Prerix aguilina (1)
and Pyronema

idy Amarantfias ()
and

Chenopodium

(@) () (€)
by @ G G
2y (i) iy (iv)
3y (i) (1) (i)
4y (v () (i)

Column-T1
Crows better 1
overgrazed arca

Dominate in areas
destructed by fires
Indicates 1nlense
soil erosion

Saline soils

(d)
(iv)
(1}
(iv)
(i}

o Watch Video Solution

25. Biotic succession is caused by

A. Competition amongst species


https://dl.doubtnut.com/l/_9c9p1CTHE5lc
https://dl.doubtnut.com/l/_bVz75uCwiMPJ

B. Occurrence of diseases

C. Changes in grazing habits

D. Adaptive ability to environmental changes

Answer: D

° Watch Video Solution

Exercise li Nutrient Cycling

1. Read the following statements and select the correct option:

(a) Major reservoirs of phosphorus are phosphate rocks and fossil bone
deposits laid down in the past geological ages.
(b) During weathering of rocks, minute amounts of these phosphates

dissolve in soil solution and are absorbed by the roots of the plants.

A. (b) is correct but (a) is false.

B. Both (a) and (b) are true


https://dl.doubtnut.com/l/_bVz75uCwiMPJ
https://dl.doubtnut.com/l/_ad62NZVNcFav

C.is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: B

o Watch Video Solution

2. Select the pairs of sediamentary biogeochemical cycles.
I. Hydrogen cycle and water cycle
IIl. Phosphorus cycle and sulphur cycle
1. Calcium cycle and magnesium cycle
IV. Carbon cycle and nitrogen cycle
A land Il
B. Il and lll

C.llland IV

D.land IV

Answer: B


https://dl.doubtnut.com/l/_ad62NZVNcFav
https://dl.doubtnut.com/l/_AyBcLEAlU6Dc

° Watch Video Solution

3. Identify the given animal

|

° Watch Video Solution

4. Which of the following statements is/are correct or incorrect regarding
Class Amphibia?

(i) Body is divisible inot head and trunk. Tail is present in some


https://dl.doubtnut.com/l/_AyBcLEAlU6Dc
https://dl.doubtnut.com/l/_HJfndFUG4jDa
https://dl.doubtnut.com/l/_3Kz9JQ6h5p6P

amphibians.

(ii) Show respiration by gills, lungs and through skin.
(iii) Has scales in all its members.

(iv) Can lead dual life (aquatic and terrestrial)

(v) Has eyelids.

o Watch Video Solution

5. Which one of the following is not one of the three aspects studied in

biogeochemical cycling?

A. The nature and size of natural reservoir

B. The rate of movement between reservoirs

C. How different biogeochemical cycles interact

D. How new species create their own biogeochemical cycles

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3Kz9JQ6h5p6P
https://dl.doubtnut.com/l/_Erxo25OwtTZi

6. About 70% of total global carbon is found in :

A. oceans

B. forests

C. grasslands

D. agroecosystems

Answer: A

o Watch Video Solution

7. Which one of the following is not a gaseous biogeochemical cycle in

ecosystem?

A. Sulphur cycle

B. Phosphorus cycle

C. Nitrogen cycle

D. Carbon cycle


https://dl.doubtnut.com/l/_2d3ERVOzx85m
https://dl.doubtnut.com/l/_wawT23d1D9AA

Answer: B

° Watch Video Solution

8. Major source of sulphur is

A. oceans

B. land

C.rocks

D. lakes

Answer: C

° Watch Video Solution

9. Assertion: Global water cycle does not involve the living organisms.
Reason: In global water cycle. Water circulates between hydrosphere and

atmosphere.



https://dl.doubtnut.com/l/_wawT23d1D9AA
https://dl.doubtnut.com/l/_Ljsv4w7BSDSe
https://dl.doubtnut.com/l/_L3V5cEYdOkZK

A. Both (a) and (b) are true.

B. (b) is correct but (a) is false.

C.(a) is correct but (b) is false.

D. Both (a) and (b) are false.

Answer: A

o Watch Video Solution

10. Which of the following is most important in water cycle?

A. Transpiration through leaves

B. Evaporation from the oceans

C. Percolation of water into the ground

D. Absorption of capillary water by plants

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_L3V5cEYdOkZK
https://dl.doubtnut.com/l/_FQlPi1TxVx6b

11. Reservoir of gaseous cycle is

A. stratosphere

B. atmosphere

C.ionosphere

D. lithosphere

Answer: B

° Watch Video Solution

Exercise li Ecosystem Services

1. Cultural services are

A. Conservation of plant biodiversity

B. Creation of aesthetic beauty


https://dl.doubtnut.com/l/_FQlPi1TxVx6b
https://dl.doubtnut.com/l/_6zCl1JzqdXwt
https://dl.doubtnut.com/l/_9RRAynURPU6A

C. Regulation of climate

D.1&2

Answer: D

° Watch Video Solution

2. Out of the total proposed cost of various ecosystem services, cost of

climate regulations and habitat for widilife are

A.50 %

B.10 %

C.6%

D. 25 %

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9RRAynURPU6A
https://dl.doubtnut.com/l/_UHtkLuQFQyI8
https://dl.doubtnut.com/l/_zaSaEkFVOOkt

3. What is the amount of average price tag on nature's life support

services determined by Robert Constanza and his colegues?

A.US $ 3 trillion a year

B. US $ 13 trillion a year

C.US $ 23 trillion a year

D. US $ 33 trillion a year

Answer: D

o Watch Video Solution

4. An effective measure to prevent global warming is

A. Carbon tax system

B. Emission of green house gases

C. Afforestation

D. cut down O; and CO in atmosphere


https://dl.doubtnut.com/l/_zaSaEkFVOOkt
https://dl.doubtnut.com/l/_Tiez8RU79piH

Answer: C

o Watch Video Solution

5. Find the correct statements from the following
I) Supporting ecological services - Oxygen release into ecosystem
I1) Provisioning ecological services - Climate regulation in ecosystem
II) Regulating ecological services - water purification and flood protection
IV) Cultural services - Education, recreation and aesthetic value
A. Except | all are correct
B. Except Il all are correct

C. Except lll all are correct

D. Except IV all are correct

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Tiez8RU79piH
https://dl.doubtnut.com/l/_G5tubFYXAB0N
https://dl.doubtnut.com/l/_SgqaBzzwEpRS

6. The amount of C'O, fixed by a plant, in order to produce 162g of dry

organic matter is

A. 264g
B.193 g
C.162 g

D.108 g

Answer: A

o Watch Video Solution

7. According to photosynthesis equation, how much solar energy

consume when a plant to produce 180g glucose and 193g O,

A. 67.72 kcal
B.677.2 calories

C.677.2 kcal


https://dl.doubtnut.com/l/_SgqaBzzwEpRS
https://dl.doubtnut.com/l/_7zg8ZVBZOyem

D. 686 calories

Answer: C

° Watch Video Solution

8. Water purification and water come under these ecosystem services

respectively

A. Supporting, provisioning

B. Regulating, provisioning

C. Provisioning, regulating

D. Regulating, supporting

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7zg8ZVBZOyem
https://dl.doubtnut.com/l/_Rutm4iosywfl

9. Economically useful products of the following plants are under
provisioning services
A) Rice B) Jute
C) Jute D) Pongamia
E) Petunia F) Lichens
A. All the above
B. AB,C,D only

C.AConly

D. F only

Answer: B

o Watch Video Solution

10. Analyse the following lists about Ecological services choose correct

matching


https://dl.doubtnut.com/l/_Msbyan3Rs0o3
https://dl.doubtnut.com/l/_Vu2vtwDqaqXs

LIST-I LIST-IN
I} Supporting services A) Water purification
i1) Cultural services B) Aesthetic value
HI)Provisioning servicesC) Providing fuel
IV)Regulating service D) Soil formation
E) flood protections

A. I-B, II-A, IlI-E, IV-D
B. I-A, 1I-B, IlI-D, IV-E
C. I-D, II-B, I-C, IV-A

D. I-D, II-A, llI-E, IV-B

Answer: C

o Watch Video Solution

11. Which of the following is an ecosystem service provided by a natural

ecosystem?

A. Cycling of nutrients


https://dl.doubtnut.com/l/_Vu2vtwDqaqXs
https://dl.doubtnut.com/l/_o6rMmC1FBX1j

B. Prevention of soil erosion

C. Pollutant absorption and reduction of the threat of global warming

D. All of the above

Answer: D

° Watch Video Solution

Exercise lii Previous Aipmt Neet Questions

1. The sequential events from stage till climax stage in succession are

called

A. Ecesis

B. Sere

C. Nudation

D. Migration


https://dl.doubtnut.com/l/_o6rMmC1FBX1j
https://dl.doubtnut.com/l/_fhRfjRXUQIek

Answer: B

o Watch Video Solution

2. Which of the following statements is not true ?

A. Assingle organism can feed at several trophic levels

B. Detritivores feed at all trophic levels except the producer level

C. Primary consumers are herbivores

D. Energy pyramids of an ecosystem tend to diminish at higher trophic

levels

Answer: B

o Watch Video Solution

3.The primary producers of the deep-sea hydrothermal vent ecosytem are


https://dl.doubtnut.com/l/_fhRfjRXUQIek
https://dl.doubtnut.com/l/_DV8YjeAONHvL
https://dl.doubtnut.com/l/_VlaeX3tfHhAt

A. Blue-green algae

B. Coral reefs

C. Green algae

D. Chemosynthetic bacteria

Answer: D

o Watch Video Solution

4. Which of the following would appear as the pioneer organisms on bare

rocks?

A. Lichens

B. Liverworts

C. Mosses

D. Green algae

Answer: A



https://dl.doubtnut.com/l/_VlaeX3tfHhAt
https://dl.doubtnut.com/l/_4nq1FxM469hp

| ° Watch Video Solution

5. Which of the following is a characteristic fea- ture of cropland

ecosystem

A. Absence of soil organisms

B. Least genetic diversity

C. Absence of weeds

D. Ecological succession

Answer: B

° Watch Video Solution

6. The term ecosystem was coined by

A. E.P. Odum

B. A.G. Tansley


https://dl.doubtnut.com/l/_4nq1FxM469hp
https://dl.doubtnut.com/l/_SKWGrBNhmaNE
https://dl.doubtnut.com/l/_ZMgGeym5jx0Y

C. E. Haeckel

D. E. Warming

Answer: B

° Watch Video Solution

7. Most animals that live in deep oceanic wa- ters are

A. Detritivores

B. Primary consumers

C. Secondary consumers

D. Tertiary consumers

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMgGeym5jx0Y
https://dl.doubtnut.com/l/_hENhURSzL6Wf

8. An association of individuals of different species living in the same

habitat and having functional intersections is

A. Population

B. Ecological niche

C. Biotic community

D. Ecosystem

Answer: B

o Watch Video Solution

9.Increase in concentration of the toxicant at successive trophic levels is

known as

A. Biogeochemical cycling

B. Biomagnification

C. Biodeterioration


https://dl.doubtnut.com/l/_T5yjUVQfD2km
https://dl.doubtnut.com/l/_1ZJ3tUbXGH5G

D. Biotransformation

Answer: B

° Watch Video Solution

10. The following graph depicts changes in two populations A and B of

herbivores in a grassy field. A possible reason for these changes is that

Time

A. Popuation A consumed the members of population B

B. Both plant population in this habitat decreased


https://dl.doubtnut.com/l/_1ZJ3tUbXGH5G
https://dl.doubtnut.com/l/_N2gr0Sm1wNCU

C. Population B competed more successfully for food than population

A

D. Population A produced more offspring than population B

Answer: C

° Watch Video Solution

11. Secondary Succession take splace on / in :

A. Newly cooled lava
B. Bare rock
C. Degraded forest

D. Newly created pond

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_N2gr0Sm1wNCU
https://dl.doubtnut.com/l/_Su74QGczUppK
https://dl.doubtnut.com/l/_yyEcnx5nxGPi

12. In an ecosystem the rate of production of or- ganic matter during

photosynthesis is termed as

A. Net productivity

B. Net primary productivity

C. Gross primary productivity

D. Secondary productivity

Answer: C

o Watch Video Solution

13. The mass of living material at a trophic level at a particular time is

called

A. Standing crop

B. Gross primary productivity

C.Standing state


https://dl.doubtnut.com/l/_yyEcnx5nxGPi
https://dl.doubtnut.com/l/_vrqnCfQ5Z3vp

D. Net primary productivity

Answer: A

° Watch Video Solution

14. Vertical distribution of different species occupying different levels in a

biotic community is known as

A. Pyramid

B. Divergence

C. Stratification

D. Zonation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vrqnCfQ5Z3vp
https://dl.doubtnut.com/l/_nxsWO4hbIFfr

15. Rachel Carson's famous book "Silent Spring" is related to

A. Ecosystem management
B. Pesticide pollution
C. Noise pollution

D. Population explosion

Answer: B

° Watch Video Solution

16. Match the following and select the correct option

(a) Earthworm (1) Pioneer species
{(h) Succession in) Detritivore

{c) Ecosystem service (ili) Natality

{d) Population growth (iv) Pollination

o Watch Video Solution



https://dl.doubtnut.com/l/_yVnDf4fRfKZO
https://dl.doubtnut.com/l/_skcHjHeAdlY7
https://dl.doubtnut.com/l/_LHcXedwTxYWZ

17. Secondary productivity is rate of formation of new organic matter by :

A. Producer

B. Parasite

C. Consumer

D. Decomposer

Answer: C

o Watch Video Solution

18. Which one of the following processes during decomposition is

correctly described?

A. Fragmentation-Carried out by organism such as earthworm

B. Humification -Leads to the accumulation of a dark coloured

substance humus which undergoes microbial action at a very fast

rate


https://dl.doubtnut.com/l/_LHcXedwTxYWZ
https://dl.doubtnut.com/l/_3JQlZyB9eFBQ

C. Catabolism-Last step in the decomposition under fully anaerobic

condition

D. Leaching-Water soluble inorganic nutrients rise to the top layers of

soil

Answer: A

o Watch Video Solution

19. Natural reservoir of phosphorus is

A. Sea water

B. Animal bones

C.Rock

D. Fossils

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3JQlZyB9eFBQ
https://dl.doubtnut.com/l/_WXbnNvoxdWxZ

20. Which one of the following is not a gaseous biogeochemical cycle in

ecosystem?

A. Nitrogen Cycle
B. Carbon Cycle
C. Sulphur Cycle

D. Phosphorus Cycle

Answer: D

o Watch Video Solution

21. Pheretima and its close relatives derive nourishment from

A. Soil insects

B. Small pieces of fresh fallen leaves of maiz, etc.

C. Sugarcane roots


https://dl.doubtnut.com/l/_WXbnNvoxdWxZ
https://dl.doubtnut.com/l/_cBRBSICmu0KY
https://dl.doubtnut.com/l/_IjP5muLMa5Au

D. Decaying fallen leaves and soil organic matter

Answer: D

° Watch Video Solution

22. Identify the possible link "A" in the following food chain

Plant — insect frog — "A' — Eagle

A. Cobra

B. Parrot

C. Rabbit

D. Wolf

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IjP5muLMa5Au
https://dl.doubtnut.com/l/_E9DQXArGKFOP

23.The upright pyramid of number is absent in :

A. Lake

B. Grassland

C. Pond

D. Forest

Answer: D

o Watch Video Solution

24. Which one of the following is not a functional unit of an ecosystem

A. Productivity

B. Stratification

C. Energy flow

D. Decomposition


https://dl.doubtnut.com/l/_59HydOSlTbV0
https://dl.doubtnut.com/l/_kaUnaGh2VWBr

Answer: B

o Watch Video Solution

25. Given below is an imaginary pyramid of numbers. What could be one
of the possibilities about certain organisms at some of the different

levels?

L]

A. Level one PP is "pipal trees" and the level SC is "sheep"
B. Level PC is "rats" and level SC is "cats"

C. Level PC is "insects" and level SC is "small insectivorous birds"


https://dl.doubtnut.com/l/_kaUnaGh2VWBr
https://dl.doubtnut.com/l/_3qBonuoMlTdB

D. Level PP is phytoplanktons: in sea and "Whale" on top level TC

Answer: C

o Watch Video Solution

26. Which one of the following statements for pyramid of energy is

incorrect, whereas the remaining three are correct?

A. It is upright in shape

B. Its base is broad

C. It shows energy content of different trophic level organisms

D. It is inverted in shape

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3qBonuoMlTdB
https://dl.doubtnut.com/l/_i1NYaf16LSZa

27. The mass of living material at a trophic level at a particular time is

called

A. Standing state

B. Standing crop

C. Detritus

D. Humus

Answer: B

o Watch Video Solution

28. Study the four statements given below and select the two correct
ones out of them.

(i) A lion eating a deer and a sparrow feeding on grain ar ecologically
similar in being consumers.

(i) Predator star fish Pisaster helps in maintainting species diversity of

some invertebrates .


https://dl.doubtnut.com/l/_PhcDsdO6dLvq
https://dl.doubtnut.com/l/_8bjwSScPspjA

(iii) Predators ultimately lead to the extinction of praey species.

(iv) Production of chemicals such as nicotine, strychnine by the palnts are

metablic disorders.

A.aandd

B.aandb

C.bandc

D.candd

Answer: B

o Watch Video Solution

29. The biomass available for consumption by the herbivores and the

decomposers is called

A. Net primary productivity

B. Secondary productivity

C. Standing crop


https://dl.doubtnut.com/l/_8bjwSScPspjA
https://dl.doubtnut.com/l/_r8kcPFSlKfsK

D. Gross primary productivity

Answer: A

° Watch Video Solution

30. Which one of the following types of organisms occupy more than one

trophic level in a pond ecosystem?

A. Frog

B. Phytoplankton

C. Fish

D. Zooplankton

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_r8kcPFSlKfsK
https://dl.doubtnut.com/l/_wIDY831YnpyX

31. The correct sequence of plants in a hydrosere is

A.Oak — Lantana — Volvox — Hydrilla — Pistia — Scirpus

B.Oak — LantanatpScirpus — Pistia — Hydrilla — Volvox

C.Volvox — Hydrilla — Pistia — Scirpus — Lantana — Oak

D. Pistia — Volvox — Scirpus — Hydrilla — Oak — Lantana

Answer: C

° Watch Video Solution

32. Study the following statements regarding food chains and select the
correct ones.

(i) Removal of 80% tigers from an area resulted in greatly increased
growth of vegetation.

(ii) Removal of most of the carnivores resulted in an increased population
of deers.

(iii) The lenght of food chains is generally limited to 3-4 trophic levels due


https://dl.doubtnut.com/l/_lsfSGSh7GfNT
https://dl.doubtnut.com/l/_ADxGVW7AK0z3

to energy loss.

(iv) The lenght of food chains may vary from 2 to 8 trophic levels.

A) i and ii B) ii and iii C) i and iii D) iii and iv

A. (i), (iv)

B. (i), (ii)

C. (i), (iii)

D. (iii), (iv)

Answer: C

o Watch Video Solution

33. The slow rate of decomposition of fallen logs in nature is due to their

A. anaerobic environment around them

B. low cellulose content

C. low moisture content


https://dl.doubtnut.com/l/_ADxGVW7AK0z3
https://dl.doubtnut.com/l/_5faeyilslp0s

D. poor nitrogen content

Answer: B

° Watch Video Solution

34. About 70% of total global carbon is found in :

A. Oceans

B. Forests

C. Grasslands

D. Agroecosystems

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5faeyilslp0s
https://dl.doubtnut.com/l/_j85wjWONByKz

35. A lake near a village suffered heavy mortality of fishes within a few
days Consider the following reasons for this?

(a) Lots of urea and phosphate fertilizers were used in the crops in the
vicinity.

(b) The area was sprayed with DDT by an aircraft.

(c) The lake water turned green and stinky.

(d) Phytoplankton population in the lake declined initially thereby greatly
reducing photosynthesis. Which two of the above were the main causes

of fish mortality in the lake?

A. (i), (iii)

B. (i), (ii)

C. (i), (iii)

D. (iii), (iv)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KX5Uj9Msazfg
https://dl.doubtnut.com/l/_bnTpJBhziBzS

36. Which one of the following ecosystem ecosystem types has the

highest annual net primary productivity?

A. Temperature deciduous forest

B. Tropical rain forest

C. Tropical deciduous forest

D. Temperature evergreen forest

Answer: B

o Watch Video Solution

37. Which one of the following is not used for construction of ecological

pyramids ?

A. Dry weight

B. Number of individuals

C. Rate of energy flow


https://dl.doubtnut.com/l/_bnTpJBhziBzS
https://dl.doubtnut.com/l/_SuakJOYvJaDx

D. Fresh weight

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SuakJOYvJaDx

